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How many pages of the book does Lisa read on the weekend?

Answer:
3. What is the volume of a cube with side length 5 cm? Circle the correct option.
A 25cm3
B 125cm?
C 100 cm?
D 15cm?
E 50cm?
Test 1
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4. Dr. Kapur has a 5 litre jug of water. She pours hali on her plants, then gives
1600 ml to patients. How much water is left? Circle the correct option.

A 900 ml
B 131

C 038l

D 2400 ml
E 1100 ml

5. Sundeep has six pencils on his desk. The lengths of the pencils are listed below.
6cm, 13 cm, 14cm, 9cm, 6cm, 7 cm

He picks up the three longest pencils. What is the mean length
of these three pencils? Circle the correct option.

A 14cm
B 13cm
C 12cm
D 9cm

E 10cm

6. A swimming pool has a diving board that is 350 cm above the surface
of the water. The depth of the pool is 4.6 m. What is the distance,
in metres, between the diving board and the bottom of the pool?

Answer: m

7. 1| 64x188=12032

What is 64 x 3762 Circle the correct option.

A 12032
B 6016

C 48128
D 240064
E 24016

© CGP — not to be photocopied 3 Test 1
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8. Asequence starts T, 5 2]ltiplying the previous term by 4 and adding q,

fach term is found by mu

[ nce?
Which of these numbers does not appear in the seque

Circle the correct option.

A 5461

B 45218

C 87381

D 349525
E 5592405

9. Jane is thinking of a number. She adds 5 and multiplies itby 7. The re
Which equation correctly describes Jane’s process, if the number
she started with was x? Circle the correct option.

sult IS 91

A x+5x7=91
B 7kx+5)=091
C x+5+7=91
D 5x+7=091

E 7(5x)=91

10. A triangle has sides with lengths a, b and c.

T

C

Which of the following statements is definitely not true? Circle the correc
A a+b>c

c+b=18
b>a+c¢
O<b+a
a<b<e

t option.

/10
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. In which of the following numbers does the 6 have the smallest value?
Circle the correct option.

A 160523

B 22864

C 797617.5
D 8926.53
E 60.0849

2. One of the angles in a right-angled triangle is 72°.
Which of the following is also an angle in the triangle? Circle the correct option.

A 18°
B 108°
C 96°
D 26°
E 38°

3. Tony’s lasagne recipe is for 12 people, and needs 800 ml of tomato sauce.
If Tony makes a lasagne for 18 people, how much tomato sauce does he need?

Answer: ml
4.  How many prime numbers are multiples of 5?
Circle the correct option.
A O
B 1
C 2
D 5
E Impossible to tell
D CGP — not to be photocopied 5 Test 2



5 Julie is watching a fil
What is the total lengt

A

B
C
D
E

6. Jonah hasa bag wit
red balls as blue balls.

2 hours 10 minutes
3 hours 10 minutes
2 hours 45 minutes
1 hour 40 minutes

2 hours 20 minutes

Circle the correct option.

7. Joan is stacking boxes in a pil

1/3

m. After |
h of the film? Circ

h red balls and blu
What fraction O

.

{’;}4

\

35 minutes, she has watched 25% of the i
m,

e the correct option.

e balls. The bag contains twice as m,

f balls in the bag are blue? g

e. Each box is a cuboid of height 15 cm

and mass 0.2 kg. Joan stacks the boxes to a total height of 240 cm.
What is the total mass of the stack of boxes?
Circle the correct answer.

A

B
C
D
E

Test 2

3.2kg
1.6 kg
4.8 kg
2.6 kg
1.8 kg

it
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10.

James wants to run at least 500 m by doing laps
around the perimeter of a park, shown below.

50 m

30m Park

not to scale

Y

What is the smallest number of whole laps that he must run?

Answer:

If 4(x + 5) = 44, what is x2 Circle the correct option.

A

8 B 11 C 6 D 35 E 7

M ™
L L )

Pounds (£)

N A

2 4 6 8 10 12 14
Dollars ($)

O

Rachel has £8. Simon has $12. Who has more money, and by how much?
Use the conversion graph to give an estimate. Circle the correct option.

A

B
C
D
E

Rachel has about $0.40 more than Simon.

Rachel has about $0.80 more than Simon.

Rachel has about £1.50 more than Simon.

Simon has about $2.50 more than Rachel.

Simon has about £0.20 more than Rachel. ( )
/10

€ CGP — not to be photocopied 7 Test 2
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Test 3

You have 10 minutes to do

this test. Work as quickly and accurately 4 Yoy

On the coordinate grid, point P is moved 7 squares right and 2 Squareg oy
n,

!

Py i)

2 4 6 8 ¥

What are the new coordinates of point P?
Answer: (

Gerard sells four types of sandwich in his cafe. |
He records the number of each type of sandwich sold on one day in a pictogram,

Sandwich Amount sold = 4 sandwiches

Piccalilli 7

Ham and cheese

BLT >

Egg mayo D

How many more piccalilli sandwiches were sold than BLT on that day?

Answer: — |

toCOPEF‘
8 © CGP ~— not t0 o Pho }



A

B
C
D
E

4%
0.65

3100
0.065

a0

Which of the following is the smallest? Circle the correct option.

4. An empty steel bucket has a mass of 850 g. When it is filled with sand, it has a mass

of 16.2 kg. What is t

A

B
C
D
E

15550 ¢
15350 ¢g
17050 g
16950 g
14650 g

he total mass of the sand in the bucket? Circle the correct option.

5. Tifah makes a cube with side length 2 cm out of card. What is the area
of the net that she needs to make the cube? Circle the correct option.

A

m oA w

8 cm?

16 cm?
20 cm?
24 cm?
32 cm?

6. Mrs Rogers has stickers in different shapes. She has four square stickers,
three triangle stickers and one heart sticker.

What fraction of all her stickers are square? Circle the correct option.

A

B
C
D
E

' CGP — not to be photocopied

9 Test 3



7.  Chri his house, and is out for four hours and tW?”ty WIHUtes, Z
’ ig 1aaVES i HIISE; & house at 7:15 pm. At what time did he loa »
before arriving back at his hous ve hiSh |
Answer: Uy |

216° not drawn

49° 313 accurately

What is the size of angle x? Circle the correct option.

A

B
C
D
E

28°
64°
22°
46°
84°

9. Whatis 49 x 138 =37 x 49?

10. A sequence is made by joining together squares with side length 1.
Shape 1 Shape Shape 3

Which expression gives the perimeter of the nth shape? Circle the correct option.

A

B
C
D
E

Test 3

4n

4n -1
3n+4
3n+1
2n + 2

10

\pﬁ

Answer:

© CGP — not fo beP



You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. What s the difference between 18 °C and -25 °C?

Answer: ___ °C

2. Which number is a factor of both 48 and 272 Circle the correct option.

A 2
B 3
C 4
D 7
E 9

3. The sizes of three of the angles in a quadrilateral are 47°, 133° and 95°.
What is the size of the missing angle? Circle the correct option.

A 108°
B 85°
C 25°
D 125°
E 90°

4. Work out the area of the shape below.

7 cm 14 e
3 cmi not to scale
10 cm >

Answer: cm?

© CGP — not to be photocopied 11 Test 4
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has crates that weigh 14.68 kg each. A shlpplng Containe f

At is the total weight of the crates in five full Contajy ey, &

5. A company &
erg h% ""

1024 crates. Wh |
Circle the correct option.

A 25191.2kg |

B 75161.6 kg

C 102510.8kg

D 1174932 kg

| E 205265.4kg ;;

&

! > Di’s DIY Shop

E Hammer £2.50 E

% 10 nails o5p

E i

| Terry buys a hammer and 50 nails from Di’s DIY Shop. [

. How much change does he get from £102 Circle the correct option,

A £3.75 ’

B £5.00 ;

C £6.50

| D £7.00
E £7.25

7. The heights of Janet's plants are 19 cm, 25 cm, 28 cm and 32 cm.
What is the mean height of Janet's plants? Circle the correct option.

A 7cm

B 19cm

C 26cm

D 26.5cm
E 104 cm i

£
5
1

7
Test 4 octf

I
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8. Ashop owner claims that the number of eggs he sold on Sunday is over df)uble
the number he sold on Friday. He uses the chart below to back up his claim.

- 35 -

o

E’ S 30 -

€8 25

28 o9
15

W TTF Sa éu M TTJ
Day

Why is the chart misleading? Circle the correct option.

A It's hard to read the number of eggs sold.
The numbers don't start at 0.

B

C  The days don't start on Monday.
D

E

The shop is probably open for less time on a Sunday.
The numbers should go up in 1s or 2s.

9. Which expression is the Same as 3(x + 2) - 12 Circle the correct option,

A 3x+1
B x+1

C 6x-1
D 3x+5
E  5x-1

10. Sofia is giving out hats at her birthday party. She has five each of red, blue
and green hats. The first person is given a blue.hgt, and the second person
is given a green hat. What fraction of the remaining hats are red?

Circle the correct option.

A Y

-
1/5

Test 4
CGP — not to be photocopied 13
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You have 10 minutes to do this test.

1. Use estimating to find 67 132 + 9840.78 + 812.5. Circle the correct Option

A 17368.78
B 7778528
C 1663523
D 107 504.6
E 2467.898

2
How many matches does the team draw? Circle the correct option.

A 15

B 5

C 6

D 9

E 12

3. Mel goes fell-running one day. The graph below shows her distance from home,
s 20
=
2 15
c 10
g
2 5
o
0 12345678 91011
Hour
How long in total did Mel stop for during her run?
Answer: hours, ____-
Test 5
es 14 © CGP — not to be P

Work as quickly and accurately g o _
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In one season, a football team plays 60 matches. They draw 15% of thejr Match |
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minutes §
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4. 1pint=568 ml. A shop only sells milk in 1 pint cartons.
How many cartons would you need to buy to getat least 6 litres of mijk?

Answer:

5. Which of the following statements is true? Circle the correct option

A 16 x30>8 x 800
15x30<30x 15
20x25=10x12.5
18 x24 =9 x 48

45 x 1000 > 900 x 100

moA®

6. Shapes 1 and 2 are both made from identical regular hexagons.
In Shape 1, the white space in the middle of the 3 hexagons has an area of 8 cm>.

Shape 1 Shape 2
SO 2

What is the area of the white space in the middle of the 6 hexagons in Shape 22
Circle the correct option.

A 24 cm?
B 16cm?
C 48 cm?
D 80 cm?
E 8cm?

7. The test scores of Mr Colin’s class are: 6, 19, 20, 11.
What is the mean of these scores?

Answer:

CGP — not to be photocopied 15 Test 5
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traight line.
8. The diagram shows three angles on a siraié

3y 44x

What is the size of angle x? Circle the correct option.

A 136°
B 44°
C 39
D 36°
E 34°

9. What is the sum of the only two prime numbers between 50 and 60?

Answer:

10. An unfair dice is rolled 36 times. The frequency that each number
is rolled is shown in the pie chart.

How many times does the dice land on an odd number? Circle the correct option.

A 4
B 6
C 10
D 12
Test 5 16 OtocOPie‘J‘ ‘
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Time for a break! These puzzles are a great way to practise your maths skills.

Moon, Star, Diamond, Circle

Each shape has a whole number value. Work out the value of each shape,
and write the sum of each row and column in the box at the end.

D= 0|0 D
R DD D D36
O-__ pAGR AR ANAGRE,
— | DI

24 206

1

Larry’s Test

Larry’s class does a test marked out of 100.
All of the scores except Larry’s are shown here:

93, 88, 76, 44, 28, ?

What could Larry’s score be if:

CGP — not to be photocopied 17 Puzzles 1
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i test. Work as quickly and accurately ,
You have 10 minutes tO do this test S Yoy -
i antiques fair for £635.

Daphne bought a pETL 2 aft aT€99O.q Circle the amount of profit she Mag
g,

1.
She sold it one month later 1or

A £335
B £355
C £445
D £265
E £255

0. There is a special offer of buy one get one free

2. A potted plant costs £4.5
o buy 20 potted plants?

How much would it cost t
Answer: £

e

Kemi cuts the shapes below out of a piece of card.

OANAOA

What fraction of the shapes are triangles? Circle the correct answer.

3.

A Y
B s
C %
D %
E

4. Which of the following is equal to 2%/s?
Circle the correct answer.

A 43 B 4.6 C 54 D 3.8 E 4.2

© CGP — not to be photoc®? g
D
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es 18



A

A

51°
72°

123°

27

237°

50m

A

v

10m1

20 m
P

What is the area of the platform?

A S ————— o ——— e e e —

‘5. Atriangle has one angle of 51° and one angle of 72°.
What is the size of the triangle’s third angle? Circle the correct answer.

6. The diagram shows the plan of a concrete platform.

20 m

Answer:

7. Pete delivers newspapers. The table below shows the number of
newspapers he delivered each morning during one week.

Mon

Tue

Wed

Thu

Fri

Sat

Sun

15

15

16

14

10

30

40

14
15
16
20
25

© CGP — not to be photocopied

19

What was the mean number of newspapers he delivered during this week?
Circle the correct answer.

Test 6
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s to the beach.
09:00 and‘JoggSmg home again.

8. Sophie sets off fr i 8 T during her journey.

She then sits on a ths he

The graph below sho | P ]_ ']
‘ T

T
]

' 5 6
o 3O—r,men (minutes)

Circle the time that she sets off back home.
A 09:15
B 09:45
C 10:00
D 10:15
E 10:30

- 2
9. What is the sixth term in the sequence shown?

73,71, 68, 64...
Answer:
—
10. Mr Stark has two jars of sweets on his desk.
At the start of the week, each jar contains S sweets.
Mr Stark gives out 30 sweets during the week.
Circle the expression that shows the total number of sweets
he has left at the end of the week.
A 30-25
B 25-30
C 2-5-30
D 305-25
E 28
/10 |
Test 6 20 & CEP— noptabaph otocop




You have 10 minutes to do this test, Work

1

as quickly and accurately as you can,

A regular heptagon has sides of length 120 mm. What is the heptagon’s perimeter?

Circle the correct answer,

A

mo NS

1200 mm
840 mm
480 mm
600 mm
720 mm

2. Look at the diagram below.

"

Circle the best estimate for the size of angle x from the options below.

A

B
C
D
E

100°
30°

230°
150°
330°

3. Mikael walks 740 m to the bus stop. He travels 2.5 km on the bus,
and then walks another 120 m to his grandparents’ house.
How far has he travelled altogether, in km? Circle the correct answer.

A 8.625 km
B 3.2km
C 336 km
D 10.11 km
E 11.1 km
© CGP — not to be photocopied 21 Test 7
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subtracts 6 and multiplies the resyl by ;

s she thinking of?

4. Patty is thinking of a number. Sh:
The result is 96. What number we

T

rmarket for £70. o
has a sale on electrical items.

How much money would
e in the sale?

5. Brian buys a microwave from a sﬁu'[\)e‘t
The following week, the supermarke

- . zo/
The microwave is reduced by 157.

d h h i ‘av
Brian have saved if he had l)()llg t the miICrow
AnSWen £

T

E i 1 a cuboid.
The diagram shows a metal container in the shape of

6.
6m
15 m
10m
. o be 5 ]
A builder pours cement into the container gntll it is '/3 full.
What is the volume of cement in the container?
Answer: )
x m"
7. Mrs Ormerod asked the members of her class to name their favourite fish.

She recorded the results in the pie chart shown below.

{ Haddock

Four members of her class said that tuna was their favourite.
How many members of her class said that trout was their favourite?

Answer:

et 22 © CGP — not to be photocop®



8. The ath term in a sequence is given by the formula 20 - 4n.
What is the fifth term in the sequence? Circle the correct answer.

A

B
C
D
E

20
5
4
0
-5

9. Simone and Callum are collecting conkers.

Between them, they have collected a total of 29 conkers.
Which of the following statements could be true? Circle the appropriate letter.

mooO = »

Callum and Simone have each collected the same number of conkers.
Callum has collected half as many conkers as Simone.

Callum and Simone have each collected an even number of conkers.
Callum and Simone have each collected an odd number of conkers.
Callum has collected one more conker than Simone.

10. Six balls, labelled A-F, are placed in a hat. A number of people are asked to pick
out a ball at random. The graph shows the number of times each ball is picked.

Frequency

N A O OO O

A

B

C

D

Letter on Ball

E

F

What fraction of the people picked the ball marked ‘D’? Circle the correct answer.

A

B
C
D
E

© CGP — not to be photocopied

3,
2,
Y
3,
"o

23

C

)
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M
. e 15 quickly and accurate
. e o do this test. work as 4 y atcly N
You have 10 minutes you
Caﬂ
1. Round 13695 to the nearest 10.
A
nSwer:

nit for measuring the depth of a well.

2. Circle the most suitable u
A ml
B m’
C m
D m
E mm

e to show the number of sandwiches sold

3. Lizzy is drawing a tabl
e. She has filled in part of the table.

in a cafe one lunch tim

White Bread | Brown Bread Total
Cheese 12
Turkey 16 35
Total 80

How many people chose cheese on brown bread? Circle the correct angy
er,

A 12
B 16
C 45
D 33
E 64

4 , : ;
fvurgncier ;/raps china cups in newspaper to store in his attic. One newspaper can
p up 7 cups. How many newspapers does Sutinder need to wrap 161 cups’

Answer: ____—

Test 8 |
< © CGP — not to be photocop
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5. The shape below is reflected in the dotted mirror line.

The shape and its reflection together make a new shape.

Circle the name of the new shape.
A  Pentagon
B Hexagon
C Quadrilateral
D Octagon
E Heptagon

6. The pictogram shows the number of albums owned by three music fans.

O = 20 albums

O g
O
W OO0 G

How many more albums does Noel own than Jeff?

Answer:

7. Which of these pairs of numbers are an equal distance from 16.5?

Circle the correct answer.

A 16.2and 17.2
B 16and18
C 15and 17
D 159and17.1
E 15.8and17.3

© CGP — not to be photocopied 25
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Test 8

v,

7

. hewn below. ‘

8. Look at the diagram shown *g

¥

3 x
_ : ed shape? Circle the ¢
Which of these points Is outside the shad P Ofrect anSWen
A (2,0
B (1,-1)
C ("’5/ 5)
D (0,-3)
E (4,0

9. The diagram below shows a rectangle attached to a right-angled triangle,

A

a

31

What is the size of angle a?

Answer:

10. Alicia is a taxi driver. She charges a flat rate of £4 per journey, plus 80p per mit

travelled. Circle the expression which shows the amount she would charge,
in pounds, for a journey of d miles,

A 4d+0.8

B 4+80d

C 4.80d

D 480+d

E 4+0.8d i

26 @CGP...-nottC’be




How long,

Flarehaven Poolton Leveleys Livham Vansdell
0900 0946 1021 1059 1132
Charles gets on the bus in Poolton.
N minutes, does it take him to get to Vansdell?
Answer:

2.

A

C

Circle the shape below which is not the same as the others when rotated.

E

3.  Which of these is equal to three thousand and twenty-five millilitres?
Circle the correct answer.

A

B
C
D
E

3.025 litres
3.25 litres
3025 litres
0.325 litres
0.3025 litres

> CGP — not to be photocopied
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minutes
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ay to feed five ho’rses for one day,
ay would she ne

4. Afarmer uses 45 kg of h
amount of hay?

How many kilograms of h
if each horse eats the same

0.
5. Hank writes down all the factors of 3 .
He then circles any of them which are also multiples of 3.

ircle?
How many numbers does he circle?

The chart below shows the number of games won by each
player in a snooker tournament.

10

8
6
4
2

Ot im "Sue ' Mel 'Kym' Ice " Jen !

ed to feed 8 horses an

Which three players won a combined total number of games

which was the same as the number of games won by Ice?

Circle the correct answer.

A Tim, Sue and Mel
B Tim, Sue and Kym
C  Sue, Mel and Kym
D Sue, Kym and Jen
E Mel, Kym and Jen

Test 9 28
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7. Whatis the angle of the ‘Amber’ section in the pie chart shown?

} Brown R
| 78447
28° 50° |Blue Not drawn accurately
Pink
Amber

Answer: °

8. Keyin buys a box o_f corn flakes for £1.40 and some chocolate for £1.50.
Using these ingredients, he makes corn flake cakes, and sells them for £1 each.

If Kevin sells ten corn flake cakes, how much profit does he make?

Answer: £

9. Asquare has a perimeter of 48 m. What is its area? Circle the correct answer.

A 48 m?
B 12 m?
C 144 m?
D 132 m?
E 96m?

10. Raj is thinking of a number. He divides it by 2, subtracts 15, and then multiplies
the result by 8. Which of the following expressions shows the result if the number
he started with was x? Circle the correct answer.

A x+2-15x8

B (x-15+2x8
C xx8=x2-15
D x+(2-15x8)
E 8x+2-15)
)
© CGP — not to be photocopied 29 Test 9

G e




ickly and accuratel
You have 10 minutes to do this test. Work as quickly Y asyoy .

an
1. \Whatis 52.45 x 8.98? Circle the correct answer.
A 47.1001
B 471.001
C 4710.01
D 471001
E 471001
2. Ricky buys 3 bags of crisps for 37p efach. He?pays with a £2 coin. 1
How much change does he receive, in pences
Answer: |
—
|
3. George carries out a survey. He asks a group of pe_aople to say how many fizzy
drinks they all consumed during one week. The pie chart shows the resylts.
What was the most common response? Circle the correct answer.
A 1
B 2
Cc 3
D 4
E S5
Test 10 30 @ CGP — not to be photmdp;(‘(l
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4.  What s the perimeter of the shape shown below?

A

moAw

15m

Pattern 1

o

Tm

1Tm
1.5m e

Pattern 2

(o]
000

6. Look at the sequence of patterns below.

o]
o)

Not drawn to scale

5. A quadrilateral contains three angles of size 81°.
What is the size of the fourth angle?

Pattern 3

(o)
(o) e)
[e]e)

How many dots will there be in the sixth pattern?

Answer:

Answer:

Pattern 4

000
0000
000

Answer:

7. The table shows the finishing times, in seconds, of the runners in a 100 m sprint.

Dinah

Tabby

Pam Debbie

Moirah

Jill

Summer

15.45

14.97

15.21 16.12

15.35

16.01

16.13

First Place:
First Place:
First Place:
First Place:
First Place:

Tabby
Jill
Tabby
Debbie
Tabby

© CGP — not to be photocopied

Second Place:

Second Place
Second Place

Second Place:
Second Place:

31

Pam

: Debbie
= Jill

Pam
Debbie

Third Place:
Third Place:
Third Place:
Third Place:
Third Place:

Circle the option which correctly shows the first, second and third placed finishers.

Debbie
Summer
Summer
Moirah
Pam

Test 10



of a chemical cha
8. The graph below shows how the temperature edg,,
time during an experiment.

10{"
o 8
< B}
Q 4_,
£ ;
e 2/ NEA
= !
020 40 60 80 100 120
Time (s)

After how many seconds did the chemical reach its highest temperatyre;

9. Sanjeev lays out the cards shown below.

What fraction of the cards have one or more lines of symmetry?
Circle the correct answer.

A
B Y
C %
D %
E "o

10. The cost of hiring a floorboard sander is £60 per day. There is also a one-off
hir? fee of £150, which covers the whole rental period. Circle the expression
which shows the total cost, in pounds, of hiring the sander for n days.

A 60+ 150n

B 210n

C 210+n

D 150+ 60n

E 150 x 60n 0

Test 10 32 © CGP — not to be



Puzzles 2

Hint: You can add the straight
line to any part of the calculation

— symbol or number.




2,

Test 11

This map shows SO

: t

, do this 1€°
0 mutes
You have 1
is poi
- p of these arroW?
Which 0 C
A

b

D

!

ork as quickly and aCCUrately .

N\

Moy
|

Jting 10 1.242 Circle the correct ansye,

me of the rides at a funfair.

YAr ‘
8 Ghosttan | | | Holtar skelfer | N
6 ¥ a i
4 QFerrisWﬁ'eel Dodgems
2

[ | | ITeacups, | |
0 2 4 6 8 10 12 %

Craig stands at (7, 4), facing north. He turns 90° anticlockwise.
What can he see? Circle the correct answer.

A

B
C
)
E

Ellie buys four bags of f

Ghost train
Helter skelter
Ferris whee]
DOdgems
Teacups

How much change does she get?

lour for £1.20 eac

34

h. She pays with a £10 1%

Answe" g




p%gﬂant tha.n it should.

ical o

litres




a cube of side length 10 €m

8. Ha drew the net of
4 hown below.

on a sheet of cardboard, as s

What is the area of the original sheet of cardboard? Circle the correct an

A 140cm’
B 240 cm’
C 600cm?
D 1000 cm?
E 1200 cm’

9. The mean of five numbers is 180.
Four of the numbers are 155, 162, 190 and 198.

What is the fifth number? Circle the correct answer.
A 165 B 176 G 180 D 195 E 203

10. Alice is A years old. Barney is twice as old as Alice.
Charlene is 4 years younger than Barney.

Charlene is 16. Circle the correct equation below.

A A+24+44=16
B 24+4=16
C 44-2=16
D 44+2=16
E 24-4=16

mmn _:'
36 © CGP — not to be
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1562 x 47 = 73414
\What is 15.62 x 47?

Answer:

In a “tallest sunflower’ competition, the winning sunflower was 5.76 m tall.
The shortest flower in the competition was 2.89 m shorter than the winner.

How tall was the shortest sunflower in the competition? Circle the correct answer.

A 273m
B 283m
C 287m
D 289m
E 3.13m

Penny and Brian went apple picking.
Penny collected 1.7 kg of apples. Brian collected 1550 g of apples.

How many kilograms of apples did they collect between them?

Answer: kg

Cecilia, Paul and Art made 12 sandwiches.
Cecilia ate */;, of the sandwiches. Paul ate '/, of the sandwiches. Art ate the rest.

How many sandwiches did Art eat? Circle the correct answer.
A 4 B 5 C 6 D 7 E 8

37
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8. A group of friends w

on £6 H .-
They shared the mo 000 in a competition.

ney equally, and each person received £750.

How many friends were there in the group? Circle the correct answer,
A S B 6 C 7 D 8 E 9

9. The first five numbers in 4 Séquence are: 100, 98, 94, 88, 80.
What will the seventh number in the sequence be?

Answer:

10. This graph shows the Progress of a charity fundraising campaign.

The total amount raised since the start of the campaign was
recorded at the end of each week.

£40004-
© -
[¢}]
K2 P
S £3000 P
€ —
3  £2000 A
£ 7
< 7
S £1000 —
kS,

yd
23 1 35 6 7 & 5 15"
Week

How much money was raised during the fourth week? Circle the correct answer.

A £450
B £600
C £850
D £900
E £2100

)
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You have 10 minutes to

1.

"]

Test 13

for their local football team.

Name Distance
Abigail 18.6 m
Alexei 17.89m
Cooper 1825m |
Li 1804m |
Dina 17.9m
Zora 18.31m
The competitors were ranked by
Who '

A group of people were asked which of six animals would make the p,

A

20

16
124

Frequency 8-

IS

B Alexej
C L

D Dina
E Zora

e T

40

Duck Em
Animal

How many more people answered ‘Ape’ than answered ‘Duck’?

This chart shows the results of the Survey,

Answer:

Six competitors took part in a paper aeroplane throwing competition.
The list below shows the distance each competitor’s aeroplane flew.

maSCQt

do this test. Work as quickly and accurately o You ¢




Answer:

4. The sketch below shows the coordinates of three corners of a rhombus.

Ya
(8, 11)

K (13, 8)
(8, 5)

0 R

What are the coordinates of point K?

Answer: ( 2 )

5. Clive buys 5.5 m of copper wire. He uses 75 cm of the wire.

How much wire is left? Circle the correct answer.

A 43 m
B 455m
C 46m
D 475m
E 515m

6. Lucy is designing a logo. She makes two identical squares overlap.
The overlapping area is also a square, and is '/, of the area of one
of the bigger squares.

<o

If the overlapping area is 9 cm?, what is the area of the logo?

Answer: cm?

©CGP — not to be photocopied 41 Test 13
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around the perimeter of a rectangular fielq

7. Jenny walked once length of the field is 850 m

) e
In total, she walked 2650 - The
th of the field? Circle the correct answer.

What is the wid

A 4256m
B 475m
C 900m
D 90m
E 1800m

are in his garden five times during 5 single g
e

8. Rudy recorded the temperat
d were 14 °C, 24 °C, 27 °C, 27 °C anq »

The temperatures he recorde
Which of the following statements is true Circle the correct answe

%,
C

A The difference between the hottest and coldest temperatureg was )
S 4°C

The maximum temperature was 24 °C.
The third-coldest temperature was 24 °C.
The most common temperature he recorded was 24 °C,

m g M =

The minimum temperature was 24 °C.

9. What is the size of angle x in the triangle below? Circle the correct answer

65° %

A 30° B 35° C 65° D 8§5° £ 115°

10. 3m-7=20

Which of th ing i
e following is the value of 2 Circle the correct answer.

A 27

Test 13 phoio‘
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. What number should g0 in the square?

i 37+| =121

Circle the correct answer.

A 74 B 78 C 84 D 91 E 94

2. How many acute angles are there inside a regular pentagon?
Circle the correct answer.

A O B 1 C 2 D 5 E 6

3. 1234 x 7 = 8638

What is 1234 x 0.7?

Answer:

4. This pictogram shows the number of pupils in each of six classes in a school.

Class1 |[©QOO0O* Key
Class2 @O OO0 O (¢ © = 4 pupils

Class3 [©OOOO
Css4 |O00000
class5 | ©O OO @

Class6 | ©OOQO00@

The two smallest classes are combined for a school trip.
How many pupils are there in the combined group?

Answer:

i Test 14
© CGP — not to be photocopied 43 es



5. Joey starts watghn
What time will it

b.

A 1542
B 16:22
C 1657
D 17:.07
E 17:27
Suzy divides a circle into four equally-sized sections. She thep divi

the sections in

be when the

4. The film lasts for 142 Minyte,
ng a film @ fiim ends? Circle the correct answer‘

. ) &
half. She uses her circle to create the spinner shown belg;? .

P
R )

What fraction of the whole spinner is made up of star sections?
Circle the correct answer.

A

s B T, c %,

7. What is the volume of this cuboid?

Circle the correct answer

A
B

12.5 cm3
24 cm?
25 cm?
60 cm3
120 cm3

44
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"W

g, Harriet makes some purple paint by mixing 1.75 litres of red paint
with 480 ml of blue paint and 610 ml of white paint.
She then uses half of the purple paint on her garden fence.

: : r.
How many litres of purple paint does she have left over? Circle the correct answe

A 1.42 litres
B 6.325 litres
C 1.375 litres
D 3.24 litres
E 0.95 litres

9. Joan went on holiday for 7 days.
On the fourth day of the holiday, she took 53 photos.
On the fifth day she took 124 photos.
On the sixth day she took 19 photos.
On the seventh and final day she took as many
photos as in the first 6 days put together.

In total, Joan took 800 photos during her holiday.
How many did she take during the first three days?

Answer:
10. The first four patterns in a sequence are shown below.
& =
| | | |
N H_R =] .
l m monlm E_Elgl
HEm L - : g¥® N E :

How many squares will there be in the eighth pattern in the sequence?

Answer:
\

Dccp

ot to be photocopied 4R
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. in the mirror line.
1. The parallelogram shown below is reflected in

“A imirror line
T T
T 1 9 ——
: \\
| i G wx\
‘{ 5 A
! | ! 4 .
% . iInNUNN
v) \—-\" e
" ~
‘ o ———
T

*
109876543-2-10123456 78 9155

What are the coordinates of the reflection of point F? Circle the correct an

Wer
A (-7, 4)
B (4,4
C 2,4
D (4,4
E (2,4

2. What number is 9 Jegs than -132

Answer:

3. Seats have been Putout in a school hall, ready for a concert.
There are 9 rows of 11 seats and 10 rows of 12 seats.

How many seats have been setoutin total? Circle the correct answer.
A 199 B 209 ¢ o D 219 E 228

w0
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A group of 60 people went on a coach trip. For their lunch, they each had a
chplce of cheese or ham sandwiches and a choice of an apple or a banana.
This table shows the number of people who chose each option.

Cheese | Ham Tétal
Apple 8
Banana 15
Total 28 60

How many people chose a cheese sandwich and an apple?
Circle the correct answer.

A 15 B 17

C 20 D 22 E 25

Josh is buying a fish tank for his four new tropical fish.

Which of the following would be the most sensible choice for
the capacity of the fish tank? Circle the correct answer.

A 15ml

B 150ml

C 500 ml

D 150000 ml

E 150 000 000 ml

The programmes shown on a TV channel over a 24-hour period were divided into
seven categories. This pie chart shows the proportion of each type of programme.

Documentaries

How many hours of sport were shown? Circle the correct answer.
A 4 B 5 C 6 D 7 E 8

47 Test 15



. do both of the faces shown have

: s of dice 9
7. For which of the follew™ pz)l;metry? Circle the correct answer.,
. es 0

the same number of lin
E
A C @ [ }@

B D @

8. Joseph is thinking of a n.ur.nbef. H”e
it is greater than 5, and it is pn;ne :
What number is he thinking of?

says, “the number is a factor of 66,

—

9.  What is the area of this shape?

9m

8m
SmI
17

) 13m

v

Answer:

10. A pizza restaurant uses the formula P = 5 + 0.4¢ to work out P,
the price in pounds of a pizza where ¢ is the number of toppings.

The chef creates a new recipe with 4 toppings.
What will be the price of this new pizza?

Answer: £ ____—

PhotoC"f’M |

5
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e Bex lives in a house with a prime
number on either side.

e Edgar lives next door to Bex.

e Carrie lives next door to a house
with a square number.

(razy Computer

. )
ex—0ovy=% IxI1=Aal
*+o=0Y M+E=00

oY+ =% *® -8 = A

®+0 =% CXM=%RY

Enter code BAMY % to reset
Q00

Y = 7 L e )] e —\ T/

* Anna lives in a house which is a multiple of 3.

It has replaced the digits 0-9 with symbols.
Using the sums below, work out which symbol matches each digit.
Then find the code Captain Calculator needs to reset the computer.

The picture shows five houses on the same street.

Anna, Bex, Carrie, Don and Edgar each live in one of these houses.
Use the clues below to work out who lives in each house.

Number

Name

19

21

23

25

27

Captain Calculator’s Space Computer has developed a fault.

l

Il

I
-

i

1O | d

o< | B | ¥ (<

Il

Code =

© CGP — not to be photocopied 49
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ickly and accurate
You have 10 minutes to do this test. Work as qU'Lk y ately a Yoy Cap

1. Richard records the colours of all the cars he sees one day in a pte Chart.

What is the most common colour that Richard sees? Circle the correct Option

A  Black

B Blue

C  Silver

D Red

E  Cannot tell

2. Chelsea has 1.5 kg of sugar. She divides it into equal piles that each weigh 75 ¢
How many piles of sugar can Chelsea make?

Answer:

3. The ages of Mr Mann’s six grandchildren are 11, 8, 4, 3,3 and 1.
What is the mean age of Mr Mann's grandchildren? Circle the correct option.

A 30
B 3
cC 5
D 10
E 35

hOtOCOPE‘
Test 16 50 © CGP — not tobeP
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CEARPSE 1

i 4. Whatis the size of angle x? The diagram is not drawn accurately.

133",/

Answer:

5.  Whatis 807 x 40962

A 1886244
B 3305472
C 5589636
D 5987502
E 9367820

6. The diagram below shows the line S and the point T.
YA

121

8-

41

T T — >
0 4 8 12«

The line L is parallel to the line S and goes through the point . What are the
coordinates of the point where L meets the y-axis? Circle the correct option.

A (3, 3)
B (0,7)
CcC (11,0
: D (8 6)
' E (05
© CGP — not to be photocopied 51
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“@
: nd tHen d :
7. Cally is thinking of a number. She dOL.jb|95 ||It, 6;?;: \f/:/)ittjlz?a oubles jt again,
She ends up with 44. What aumber did Cally
Answer;
—

8. Whatis 15% of '/; of 240? Circle the correct option.

A 12
B 24
C 20
D 40
E 56

9. A rectangular garden has width x m. lts length is 5 m more .than its width, and jt;
area is 126 m2. Which equation shows this information? Circle the correct option,

A x(x+5)=126

B x+x+5=126
C 2x(2x+5)=126
D (x-5x=126

E x+5=126

10. John has a bag of 25 sweets, /5 of which are cherry. He picks a cherry sweet

out of the bag and eats it. What fraction of the remaining sweets are cherry?
Circle the correct option.

A lhy

l'ﬂon
N
B oo -
o o
w

52 © CGP — not to be Phowcopﬂ .
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. Which of the following is a hexagon? Circle the correct option.

[ T Y7 A

2. The number of people who voted for the winner in a reality TV series was
two hundred thousand, five hundred and three. What is this in figures?

Answer:

3.  Wayne and Linda work at a guitar shop. The number of guitars they each
sold in one week is shown in a line graph.

16,

Number of sales

M Tu W Th F Sa su
Day
What is the difference in the number of guitars sold by Wayne and Linda on Friday?

Answer:

'CGP — not to be photocopied 53 Test 17
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4. Circle the smallest value shown

5.

A

A sequence st .
What are the next two terms |

A

B
C
D
E

50%

15 and 24
16 and 22
15 and 29
22 and 40
19 and 37

B 0.45

arts 1,2, 4, 7,11, |
n the sequence? Circle the Correct ont
lOn.

below.
C 4/10 D 1/2

E 04y,

m
l not drawn




A shop sells 500
Louisg needs 3 kgg (?fag; (t)f Pasta for £1.60, and 1.5 kg bags of pasta for £3.60.
Pasta for a buffet, How much money could she save by

buying the 1.5 kg bags? Circle the correct option

A £0.80
B £1.80
C £2.40
D £3.60
E £4.00

9. Whatdoes6x +3 +2x_38 simplify to? Circle the correct option.

A 9x+5
B 4x+5
C 8x-5
D 5x-2
E 8x+5

10. The sum_of the angles in a polygon can be found using the expression 180(x - 2),
where x is the number of sides of the shape.
What is the sum of the angles in an octagon? Circle the correct option.

A 900°

B 1440°
C 1350°
D 1080°
E 1800°

o)

Test 17
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quickly and accurately a4 You .

an.

: Work as
You have 10 minutes to do this test.
Connor can b
Circle the number of bananas Uy for o
1. Abanana costs 18p. Ll i .

A 5 B 10 c 1

is the most suitable unit for measuring the distanc,
ing Is
O orrect answer.
D m E m

2. Which of the foll :
between two cities? Circle the €

A km B mm C cm

3. The masses of Sarah’s pets are listed below.
23.5kg 8.11kg 200g 1.1kg
What is the difference, in kilograms, between her heaviest and lightest Pets?

Answer: =

/ ?7cm
The perimeter of the parallelogram is 62 cm,
What is the length of the shorter side? Circle the correct option.

not to scale

A 17cm
B 15cm
C 12cm
D 9cm
E 6cm

COPEL
Test 18 56 © CCP — not10 be photo |



A 31
B 60
C 25
D 23
E 16

6. Andy records the number of CD:s four of his teachers have in their CD collection.

Teacher Number of CDs

Miss Elliot \J - 7obs
Mrs Robinson G
Miss Jackson N\

Miss McKenzie

There are 34 CDs in Mrs Robinson’s collection and Miss McKenzie’s collection
combined. What number should replace the ‘2" in the key?

Answer;

7. What is 7892.3216 rounded to the nearest thousandth? Circle the correct option.

A 8000

B 7900

C 7892.322
D 7892.321
E 7892.32

Test 18
CGP — not to be photocopied 57



Jpers. Each day after that, shq
gh marks 50 P?Piow many papers does she Markg

ad before. | t option.

8.  On Monday, Miss Lei
ircle the correc

5 fewer papers than the ¢
mark from Monday to Frt

A 250
B 225
C 200
D 175
E 150

9. The three points on the coordinate grid are joined to each Cross in typ,
How many irregular quadrilaterals are forn,

to make five different shapes. .
611717
L .|
‘ Pl -
% < r
Y3 O B B f
NN
———>
0 2 4 6 7

Answer:
S

10. A rectangular sports pitch needs its perimeter repainting.
Joanna can paint x m of the perimeter every minute.
The pitch is 2x m wide, and the length is twice the width.

How long does it take Joanna to paint the perimeter of the pitch?

Answer: ___ minuts

o’}

Test 18
58 © CGP —not o he phot



You have 10 minutes to do this test. \Work as quickly and accurately as you can.

1. How many factors of 30 are also factors of 152 Circle the correct option.

A

B
C
D
E

0

S W N =

2. What is the difference between the warmest and coldest temperatures shown below?

Helsinki -16
Paris 1
Rome 1

Answer:

°C

3. Ellie completes a 400 m race in 80 seconds. It takes Amy 25% longer than Ellie to
complete the race. How many seconds does it take Amy to complete the race?

4. Arectangle has side lengths 4 m and 250 cm. What is its area in m??

A

1000 m?
13 m?
10 m?
1.3 m?

T m?

"GP — not to be photocopied 59

Answer:
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6.
|
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|
|

7.

Test 19

ly 35.274 ounces in 1 kg. There are app,;

: Xi
are there in 1 stone? Circle the Corrmatel

l C ( ‘ ' d '1(]((_‘

-es
in 1 stone. How many ounc

A 555
176
224
0.18
828

moO

A group of people were asked to choose which type of holiday the

i iven i) Woulq
to go on next, out of six different options. The results are given N a by, ! }?al'ke

- ft.
S [T
Lepere] T 1

A )

—
s

o= 1o = [ = !
|

Number of
people
|

1 e

°o o

T ~T T TQ,
& TR

: o O @
P D 5@
v

¥ K
S 0‘2’&
How many more men than women chose skiing?

Answer:
_

Which of the following sha

pes has the greatest number of lines of symmetry?
Circle the correct option.

A Isosceles triangle

B Kite

C Scalene triangle
D Rectangle

E

Equilateral triangle

60 Vol wnt it he phO[O



P
g Four identical squares with side length 5 cm are put together to make a shape
; where each ‘step” from one square to the next is 1 cm.

1 emi?® not to scale
What is the perimeter of this shape?
A 56cm
B 62cm
C 80cm
D 48 cm
E 52cm
9.
[ {
i
! ! >
X

Which is the only labelled point that doesn’t form a right-angled triangle
or isosceles triangle when joined with the two end points of the line?

Answer:

10. In a sequence of dots, there are "/,n(n + 1) dots in the nth pattern. What is the
pattern number for the pattern made up of 28 dots¢ Circle the correct option.

A 5

B 7

cC 1

D 15

: 1. (o)

'GP — not to be photocopied 61 Test 19



uickly and accurat
10 minutes to do this test Work as quIcily ely ag Yoy,
You have 10 mi N

m long. How long is the road i, k”‘)met
TQS?

A new road is exactl){ 236 515¢C
Circle the correct option.

A 0.236515 km

B 2.36515km
C 23.6515km
D 236.515km
E 2365.15km

The pie chart shows the favourite type of book of 60 people in a book clup,

Thriller

How many people said that comedy was their favourite type?
Answer:

3. Robert has a pile of identical equilateral triangle tiles.
He places tiles next to each other to make different shapes,

without the tiles overlapping.
Which of these shapes can he not make using the tiles? Circle the correct opi"

A Triangle

B Rectangle

C  Parallelogram

D Hexagon

E  Trapezium %

(!
Test 20 1o beP o0 E
62 © CGP — not



4 The volume of a triangular prism is: area of triangular face x length
)
S cm
4 cm
%M ot to scale

«——9cm—>»

What is the volume of the triangular prism above? Circle the correct option.

A 45cm?
B 90cm?
C 135cm?
D 225cm?
E 56cm?

5. Acardboard box weighs 150 g. 24 bags of crisps, each weighing 30 g,
are put into the box. What is the total weight of a box filled with 24 bags of crisps?

Answer: g

6. The times of five runners who took part in a 200 m race are shown in the table.

£ Prargeas
38 A6
INSIL I

| Paula Andrew | Mohammed Jenni Thomas
wnrug | 29.89 47.82 46.95 31.59 28.94

What was the time difference between the fastest and slowest finishers?

Answer: S

How many common multiples of 5 and 6 are there between 400 and 5002
Circle the correct option.

A 0
B 1
C 2
D 3
E 4
P—not to be photocopied 63 Test 20
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( urn one number into
8.  The Number Cruncher uses d jormula tot anOther,

N il el

9 " The |[—> 11

Number 13
3 —*| Cruncher ’

x—‘-——'*_______,____-—-i

¢ Cruncher, what comes out?

When you put x into The Numbe
Circle the correct option.

A 9x

B x+8
C 2x+7
D 5x+4
E S5x+1

9. Gregory ploughs a field at a rate of 200 m* per minute. If he starts ploughinga

300 m x 400 m rectangular field at 9:00 am, what time will he finish?
Circle the correct option.
A 1:00pm
B 5:00pm
C 7:00pm
D 9:00 pm
E  11:00 pm
10. Keith makes a sequence where every term is greater than the previous term. 7
To find a term, Keith multiplies the previous term by itself. Which of the following

numbers could Keith have started with? Circle the correct option.

A -1

B 0

C 05

D 1 |
E 2 'ﬂ |

opi‘“"‘[
b o © G — ot tobeP” §



Time for a break! These puzzles are a great way to practise your maths skills.

¢ A Ao
d ] & ‘;fgg.iﬁ\‘zﬂl <

K’i ey e e
The Chess Tournament e |
. ]

The leaderboard in a chess tournament is shown here: L
Wi

il ," R IR ¥
AR AN 2

Emma says, “I'll only play against ansther giel.” NN -

some of the players are a bit fussy
about who they next play:

TN e

Hayley says, “I won't play against anyone whase name begins with A.”
Andrew says, “If I'm not playing against Mohammed, I'm not playing.”

Two people next to each other on the leaderboard :
can't play each other. Who is playing in the next game?

against f \
; ’ 3 e
Pele’s Pieces of Pizza
Pete has some pizzas and a pizza cutter that cuts in a straight line.
He makes one cut in Pizza 1, two cuts in Pizza 2, and so on.
Pizza 1 Pizza 2 Pizza 3 Pizza 4

2 pieces 4 pieces 7 pieces D pieces
Draw cuts onto Pizza 3 to give 7 pieces. (They don’t have to be the same size.)
Fill in the box with the maximum number of pieces Pete can make from Pizza 4.

Is there a pattern in the number of pieces that Pete can make?
How many pieces can he make from Pizza 5 and Pizza 62

Pizza 5 = D pieces Pizza 6 = D pieces

Ocep not to be photocopied 65 Puzzles 4
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ickly and accurate NG
You have 10 minutes to do this test. Work as quICKly ly as Yoy Cap

¢ a side length of 4.5 mm. What is its Perimeyy,

1. An equilateral triangle ha

—,

U

2. Circle the shape below which has a different number of lines

of symmetry to the others.
IERCIHGRANC

3. The bar chart below shows the numbers of apples and bananas
sold in a grocer’s over a period of five months.

Apples
[0 Bananas

] T

-

Jan Feb Mar Apr May

Which month had the greatest difference between the number
of apples and bananas sold? Circle the correct answer.

A January
B February
C March

D April

E May

4. Whatis 2140 x 1.1 + 0.9 x 21402

opi5
st 21 66 © CGP — not 10 be photoc
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i
j thend .
5 ghebuys fourl

:?7 e

=>

Phone
£6.00

s shopping for bargains at a car boot sale.
tems from the table shown. She spends £14 in total.

X

T,

B R YA

s Jg&)\;
1

’
R

Glove
£2.00

Book
£0.80

£ Tea Set Hat
goo £3.20

\Whic

Las TN = TR o S - - . 8

¢ The diagram shows the lines 4B and PQ. 4B is perpendicular to PQ.

Which of these could be the coordinates of P and Q¢ Circle the correct answ

A

B
C
D
3

9
~ oy o

phOtOCQ i
pied
N 67

1

h four items did she buy?

Tea Set, Hat, Phone, Glove
Hat, Phone, Glove, Book
Tea Set, Phone, Glove, Book
Tea Set, Hat, Phone, Book
Tea Set, Hat, Glove, Book

4

A(6, 10)

Q

B(6, 2)

0

PG, 3)and 08, 8)
2 4)and 0(7, 2)
3,3)and 08, 3)
2) and (8, 4)
3and 0(7, 4)

v o

he

> x

=




Test 21

ck in steps of 12.

and counts ba e .
7. Siobhan starts at 50 and cour t? Circle the correct aNSwer.

ill she coun
Which of these numbers will I

0

"’Unwz;

1
2
3

4

is 8 °C at noon. The temperatyre in hey
\ ure in Nina’s cellar is 8 °C a Cel
> ;fofi)l;tg;;;esrfég&i ‘r,:itI: of 1 °C every 30 minutes over the course of the ?

lar
307
What is the temperature in her cellar at 16:30:

ftel' noon

Answer:

9. Trevor has some square cards, all with the same side length.

He uses them to make the shape shown. Some of the cards are Cutin hyjf

+—25cm———»

What is the area of his shape?

Answer:

e

10. There are 50 packets of cris

ps on a shelf, 109
and pickle, 10 are prawn c

B Cheese and pickle
C  Prawn cocktail
D Roast chicken

E Impossible to te|]

68
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2. Astrip of patterned cloth costs 5p per centimetre.
How much does the strip of cloth shown cost? Circle the correct answer.
A £0.84
B £0.42
C £4.00
D £4.20
E £8.40
. What number will correctly complete the following calculation?
38+38+38+38=8x___
P~ not to be photocopied 69

L

A

B
C
D
E

Jordi makes himself a cup of tea ever
of tea every hour and a half. They b
Circle the time that they will next b

11:00
11:30
12:00
12:30

13:00

M

y hour. Sally makes herself a cup
oth make a cup of tea at 09:00.
oth make a cup of tea at the same time.

Answer:

Test 22



. Tina buys ¢ |
0 g and costs 99p ¥s 6 kg of
4. Ablock of butter ha::;zfshi‘r?? & e the correct answer butge,

How much does thi

A £11.88
B £11.94
C £11.99
D £12.00
E £12.60

5. Jasmine is on a fishing trip. The mean nt{mber of fish she Catcheg each
day over the first four days is 7. On the fifth day, she catches 2 fish.
What is the mean number of fish she catches over the five days?

Answer.
\

6.  The graph shown converts Cumberland Pounds to Westmorland Dollars

s
2 e L
8y T 7T
e t i -
68 3 NP
3 %
BO 2L
0 SHERZN 1]

i il i —_{‘!ﬁ

A 250

B 3.50 k
C 325

D 459

E 575

7. Henry and Harriet haye ¢

Harriet has 13 more thap H;Clng egeons between e,

.7
oW m jot ha

any racing pigeons does Har™
Answef:/

Test 22
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s ~r o -y e

g. Lookatthe diagram show, below,

a+b=90°

3a+ b =45°
2a + b = 90°
3a + b =90Q°
3a+b=180°

9. Zoeis carrying out a survey to find out what people’s favourite take-away meal is.
40% of the people she asked said ‘kebab’. She draws a pie chart to show the

results of the survey. What size an

0. The diagram shows an L-shaped box.

10 m

=11

gle should she use for the ‘kebab’ sector?

Answer: 9

5

What is the volume of the box? Circle the correct answer.

A

B
C
D
E

165 m?
255 m?
215 m?
150 m?
195 m?

71

~ not to be photocopied
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1. The bar chart below shows the numbers of different types of vehicle

parked at a service station car park.

20{“;,

¢ Blke Bus Car Van Lorfy

Which two types of vehicle had a combined total which was the
same as the total for ‘Bike’? Circle the correct answer.

A Bus andVan

B  CarandVan

C Busand Car

D Carand Lorry

E  Vanand Lorry

2. Graeme pours some water into a 500 ml beaker, as shown.

Circle the best estimate for the amount of water in the beaker.

A 100 ml
B 250ml
C 5ml
D 450ml
E 1000 ml
Test 23 72
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You have 10 minutes to do this test. Work as quickly a urately ag Yoy ¢

dl.
© CGP — not to be photoc?

> \



O

Find the area of the shape shown.

10 mm
:r-;rr; 22 mm m
Answer: mm?
4. Scott drove a total of 532 miles over a seven-day period.

What was the mean distance he drove each day during this period?

Answer: miles

5. Donna is training for a marathon. Each week, she increases the distance
she runs. In week 1, she runs 4 miles. In week 2, she runs 6 miles.
In week 3, she runs 8 miles. She continues in this sequence.

in which week will Donna run 26 miles?
Answer:

cm x 3 cm and some equilateral

of size 8
e the pattern shown.

6. Ronny has some rectangular tiles
He arranges them to mak

triangle tiles of side length 6 cm-

Y
e

the octagonal hole at the c

: ?
What is the perimeter of entre of the shape
Circle the correct answer.

A 46cm B 56cm

Cc 30cm D 36cm E 48cm

CGp 73 Test 23




What fraction of all the faces on a fair six-sided dice show a NUMbg,
which is a factor of 10? Circle the correct answer.
A Y B /s C % D % K

8.  Asnail travels a distance of 0.5 cm every se.econd. How Iong
would it take the snail to travel 1 metre? Circle the correct Option,

A 1 minute
B 1 minute 50 seconds
C 2 minutes
D 3 minutes 20 seconds
E 5 minutes

9. A postman starts his deliveries at 4:20 am. He delivers to two houses Per miny
and there are 200 houses on his route. If he has a 20 minute break during :
his round, what time will he finish? Circle the correct option.

A  5:50am
B 6:20am
C 7:30am
D 8:10am
E 9:00am

10. Kylie is mixing red and yellow paint to get the correct shade of tangerine.
For every 0.75 litres of red paint, she uses 2.25 litres of yellow paint.
She needs a total of 12 litres of paint to decorate her kitchen and bathroom.

How many litres of red paint should she buy? Circle the correct answer.
A 1.5 litres L
B 2 litres
C 3 litres
D 4.5 litres
E 6 litres

Test 23 74



you have 10 minutes to do this test. Work as quickly and accurately as you can.

1.

The spinner shown is split into five different lettered sections.

QB
E
D\kC:

The pointer is turned 270° clockwise from its position shown
in the diagram. Which letter is it now pointing to?

Answer:

Jimi is at an amusement arcade. He gets a £5 note changed into coins.
He receives five 50 pence pieces and ten 20 pence pieces.

The rest is made up of 10 pence pieces.
How many 10 pence pieces does he receive?

A

m o AN w

3. Theo set off from home at 10:53 and dr
His journey took 2 hours an
What time did he arrive at h

A

m Qo AN ™

CCp

2
5
10
15
20

ove to his parents’ house.

d 42 minutes.
is parents’ house? Circle the correct answer.

12:42
14:25
13:35
12:35
13:21

75 Test 24
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Test 24

car he washes.
£3 for every ) K
_ : s. He earns during one week,
o W: Shm?hzar:umber of cars he washes 8
The table shows

Fri
8

i is week?
What was the mean amount he earned per day during thi

Thu
7

Wed
6

Tue
4

Mon
5

Day
Number of Cars

Answer: ¢
The diagram shows a plastic box and a metal cube.
i 4 cm 3cm
IJ— = T 3
9 cm ol
How many of the cubes will fit inside the box?
Answer;

Which of the following gives the Smallest answer?

Circle the correct opt
A 10% of 158

B 5 0f30

C 0.1« 100

D 2 0f24

E 209 of 90

A poster s ata museyp, ;

original, If the POster is g woizz; h P ipting, but at 750, the size of the
ircle the correct optigp, " TOW wide jg the original painting?
A 45
B 50¢cm
C 75¢em
D 80cm
E' 9%0¢m

\

ion.




o records the eye colour of all the members

_ . of his cycling club.
5 t{te displays his results in the chart shown below, rene
Blue Brown Green
III‘HHIHHP H[IHI|HH|lIllllHl]llHllHlllll ‘IIH]IHI‘HII]IHIIHHHTHIIIMHH
0% 20% 40% 60% 80% 100%
What percentage of his cycling club has brown eyes?
Answer: %

g David plots the points 4(-5, 5) and B(5, -5) on a coordinate grid.

He joins them up to form the diagonal line 4B. 4B passes through the origin (0, 0).
Circle the point below which is not on the line 4B.

A (1,-1)
B (1,1
cC 2,2)

D (-2,2)
E (3, -3)

10. The shape below is a parallelogram.

~<— 4x —~

[ )

Circle the expression that gives the shape’s perimeter.

A 8x
B 4x+2
C 8x+2
D 8x+4
E  6x

)

—Notto be photocopied 77 Test 24
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ickly and accurat
You have 10 minutes to do this test. Work as quickly ely as you G

I

The shape is turned 90° anticlockwise. Circle the resulting shape.

2. Steve creates a sequence using the rule ‘multiply the previous number by 3,
then subtract 2 from the result’. Circle Steve’s sequence from the options below,

1. Look at the shape below.

A

A 1,2 4.
B 2,4 10..
C 24,8..

D 3,9 27.
E 3,7 18.

3. The price list for a barber’s shop is shown below.

| SeaviNs>E

Buzz Cut £5.50
FlatTop  £9.00

Mohawk  £] 27

One weekend, Gavin does 10 buzz cuts, 5 flat tops and 4 mohawks.
He earns £144. How much does Gavin charge for a mohawk?

Answer: £—"

Test 25 78 © CGP —




5

silateral triangles each have a perimeter of 45 cm.

! T\fyejgins them together as shown, to create a rhombus.
=5 TO

i the perimeter of Toby’s rhombus?

what
Answer: cm
the graph shows the number of fish caught when using
» o different brands of fishing rod on a fishing trip.
Angler’s Dream E
| = P8
| Fish-o-matic JE :
N
0 2 4 6 8 10 12 14
Number of Fish Caught
Why is the graph misleading? Circle the correct statement. |
A ltis impossible to catch 12 fish in one day.
B Not everyone likes fishing.
C The area for Fish-o-matic is more than 3 times the area for Angler’s Dream. 1
. |
D The horizontal axis values don’t increase evenly. f
E  Only two brands of rod were tested.

. Rose is thinking of a number. Her number rounded to the nearest 10 is 1110.
Circle the smallest number she could be thinking of.

A 1110
B 1100
C 1105
D 1115
E 1104
"~ not to be photocopied 79 Test 25 L
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Test 25

: . o the number of eggs laid
Rhoda is drawing a pictogram to sh(;v;/ kef)g/ e Bl

by her hens each month. She uses t

How many egg pictures should

| id 35 eggs.
n January, her hens lat b y? Circle the correct answer,

she use in the pictogram for Januar

A 10
B 9

c 8,
D 7V,
E 8%

Find the size of angle x, shown below.

X 2x

Answer: o
-_—

Shirley is making a cottage pie. She usually uses 450 g of mince for 5 people.
Today she is cooking for 8 people. How many grams of mince does she need?

Answer: g

Gina has a collection of stamps. One fifth of all her stamps are from Britain,

one third are from France, and one quarter are from Sweden.
Which of the following could be the number of stamps in Gina’s collection?

Circle the correct answer.

A 50
B 40
C 30
E 20

0 if
80 © CGP — not to be pho*



ﬂaths Crossword

Use the clues given to complete the Crossword.
One of the clues has been done for you.

.

£l
n
512

3 7
R Eems -
 LaEEE = , -
g 1 o S
= & &
e I L
£
-  a
B Bk
Fa H BN |
B B
al b

Down

2. An amount measured in g or kg.
3. A number which divides
exactly into another number.
snt numbers. \ . A 2D shape with 4 equal sides
« 2r¥ and 2 pairs of parallel sides. Q
" The order of operations.
An angle between 90° and 180°.
A chart that uses symbols.

0. The bottom half of a fraction.
1. A shape with sides of equal

length and equal angles. ‘

)]

== 0o~

13. A triangle with two equal sides
and two equal angles.
14. The units used to measure angles.
15. A number which only has itself
and 1 as factors. .
16. Average found by adding and dividing.

8. 100 cm. t
9. The space in a 3D shape.
The space in a 2D shape

0

e § Puzzles5




y and accurately 4 Yo
Y

. . . ickl
You have 10 minutes to do this test. Work as qu a
n,

_ What is the fifth term in the Sequence

1. Asequence begins 55, 45, 35, -
Circle the correct option.

A 30
B 25
C 15
D 5
E O

2. |4.3x6.9=2967 |

What is 43 x 690?
Answer:
—

3. A fair spinner numbered 1-6 is spun. What fraction gf Fhe spinner is numbereq
with a factor of 122 Write your answer as a fraction in its simplest form.

VA
Y/ o

4. The distance from the centre of a bike wheel to the edge is 32 cm.
What is the diameter of the bike wheel? Circle the correct option.

A 32cm
B 48cm
C 56cm
D 64cm
E 16cm
82 © CGP — not to be Photo‘;‘)pwd
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,h below shows the population of the city of Balonia over time.
200 |
Population ’/\/J\
(thousands 1004 | ' !
of people)
0+——v

1800 1850 1900
Year

The 8

L —

1950

Use the graph to estin"mte the population of Balonia in 1910.
circle the correct option.

A 80000 people
90 000 people
160 000 people
180 000 people
190 000 people

mo O =

6. Arecipe says, “Cook a chicken for 25 minutes, plus 5 minutes
for every 100 g it weighs.” If Audrey has a chicken that weighs 1.1 kg,

how long should she cook it for? Circle the correct option.
A 50 minutes

1 hour 10 minutes

1 hour 20 minutes

1 hour 50 minutes

m o N w

2 hours 25 minutes

7. Tim makes a table. Each of the 4 legs has the dimensions 4 cm x 4 cm x 50 cm.
The top is 20 cm x 20 cm x 1 cm. What is the volume of the material used
to make the table? Circle the correct option.

A 3200 cm3
B 3600 cm?3
C 4000 cm?
D 1800 cm3
E 1200 cm?
FGP‘ not to be photocopied 83 Test 26
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10.

Test 26

w*‘ﬁf‘
ol
He cuts it in half and gjye on

Ethan has an extra-long strawberry lace. ~
< as an extra 8 St al pieces and gisz tw alfto
0

his big sister. He cuts the other half into three equ

0
to his little brother. He keeps the rest. fthem
3
What fraction of the strawberry lace does Ethan keep? Circle the Correct Optiy
n,
A Y,
B %,
C 5
D T
E 2
Mark has two identical triangles. Each triangle has sides with lengths
5cm, 9 cm and 13 cm. He joins the shortest sides together
to form a parallelogram. What is the perimeter of the parallelogram?
Answer:
cm
Mrs Biggs asked each pupil in her class how many siblings they have,
She put the results in a bar chart.
8 1 1
o |
s 6- :‘
o
Q.
o 4 1
5 |
Ke]
5
= = |
0 0" 17273 " 4 "5
Number of siblings
What percentage of the class have at least 5 siblings?
%

Answer:

i
|

i
84 © CGP — not to be PhowCop J
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. What percentage of the grid below has been shaded?

Answer: %

Labh g 8 11

s

s the me : : 3
an number of sweets in a bag? Circle the correct option.

x were born in the same year.

n the youngest person is the oldest person?

Answer: days

Test 27




2 nt on holiday last
4. A f people were asked whether they we Y last yea,
¥ gr()up O 2 f d: : ‘ '
The results are shown in a pie chart

Yes
).

200° not drawn accurately

. - holiday last year.
Sixteen people said that they did not go on .
Hlow mapny Seople said that they did? Circle the correct option.

A 14
B 17
C 20
D 26
E 40

3. The total area of all the faces of a cube is 54 cm. What is the cube’s side lengthy

Answer: -

6. One of the angles of a parallelogram is 117°.
What is the size of another of the angles that isn’t 111°2

Answer: 0

7. On a coordinate grid, a counter is placed at the point with coordinates (~4, 5).
The counter is moved two squares to the right, then diagonally across one square.
Which of these points is the counter definitely not at? Circle the correct option.

A (-1,6)
B (-3,4)
C (-3,6)
D (-2,6)
E (-1,4)
Test 27 86 © CGP — not to be photOCOPM
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fo
iy
The squar
Perimetef 0
A 84 cm
g 95>cm
c 100cm
p 116cm
f 125cm

~ Whatis 8 x 41 + 6 x 822

Answer:

0. Atype of plant pot can stack neatly, as shown below.

A

B
C
D
E

T1x
3x + 8
8x +3
8+3 +x
5

s
"tto be photocopied

[ 3t3cm

What is the height, in cm, of a stack of x pots? Circle the correct option.

U

i dentical regular octagons are placed together to make the shape below.

e formed in the middle has a perimeter of 20 cm. What is the outer
f the shape? Circle the correct option.

(

/10)

87
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ik as quickly and accurately a5 You

\ 3 (
You have 10 minutes to do this test. W

1. Fruit Shop

Apple 15p
Pineapple 95&

Joan buys a pineapple and three apples. How much does she spend?

Circle the correct option.

A £1.85 B £1.60 C £140 D £1.45

2. Circle the shape below which has the greatest number of lines of symmetry,

NN NI A

What is the mass of the pumpkin?

Answer: _____—— kg

o
Test 28 88 © CGP — not 10 be photoc p



7
| boid has length 14.m, Widfh 2 m and volume 280 m3.
) Cv;l;t  the cuboid’s height? Circle the correct answer.
p 5 B 2m C 10m D 20m E 100 m
qis sorting Pen§i|5 into pencil pots. Each pot can hold 9 pencils.
; he fills each pen.cll Pot before moving on to the next one.
e has 111 pencils in total.
1540W many pencils will she put in the last pencil pot?
Answer:
, Thechart below S.hOWS the total number of goals scored by all the teams in the first
" five rounds of an ice hockey tournament. The vertical axis has been left blank.
Number of
Goals
1 2 3

4 5
Tournament Round

Which of these sets of data could show the number of goals
scored in those five games? Circle the correct answer.

A 28,7121, 84, 96
24, 68, 40, 90, 99
30,11, 19, 77, 88
90, 51, 10, 66, 89
12,24, 10, 35, 30

m QO N =

Acrys.ta| glass costs £17.50. A set of 4 glasses costs £56.
4 .hat.ls. the saving you would make by buying a set, instead of
ndividual glasses? Write your answer as a percentage.

Answer: %

G
~n
0t tg be phOtOCopied 89
N
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2 rate of 2 mm per year. Circle the MU,

. ' th at
8. A stalactite increases in leng m a lengthof 20cmtoa length of 2q cm,

of years it will take to increase fro
A 4.5 years
B 45 years
C 450 years
D 4500 years
E 45000 years

9. Ken has drawn the graph below to help him convert between miles anq kilometres

Miles

4
31T
2
1

0

He completes a 25 km run for charity. _
Use the graph to estimate how many miles Ken has run. Circle the correct angyye,

A 25 miles
B 50 miles
C 20 miles
D 15 miles
E 5 miles

10. Circle the expression below which is not equivalent to the others.

A 12x+2
B 4x+2

C o6x

D 3xx2

E 7x-x

il
oCOPw




e 10 minutes t0 do this test. Work as quickly and accurately as you can.
Al

et checks his gas meter reading. The meter reading is shown below.
)

He checks the reading again six months later. It has increased by 842.
what is the new meter reading?

Answer:

Two angles add up to make a right angle. One of them is 83°.
what is the other angle? Circle the correct answer.

A 17°
B 27°
c 7°

D 97°
E 107°

. Arecipe uses 100 g of flour, 100 g of sugar and 80 g of butter.
Damian has 120 g of butter, and wants to use it all in this recipe.
What total weight of flour and sugar should he use?

Circle the correct answer.

A 200g
B 120 g
C 240¢g
D 300g
E 400g
JP\nOt to be photocopied 91 Test 29
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point 4 with coordinates (=5, 4).

4. The diagram below shows the

A('614) ' ;’

uares south.
The point 4 is translated 8 squares east.ar;g ;:1 Ztl o e
What are the new coordinates of 47 Circ

A (8,4
B (0,3
C (3,0
D (-1,-4)
E (48)

5. Althea is thinking of a number. She says, ‘the number is a factor of 60,

a multiple of 5, and 1 less than a square number’. |
Which of these is the number she is thinking of? Circle the correct answer.

A 10
B 3

C 35
D 48
E 15

6. Acup holds 256 ml of water ang a bathtub holds 189.4 litres of water. How many
cups could you fill from the water in a full bathtyh? Circle the correct option.

A 739
B 625
C 1165
D 1373
E 341

Test 29




8

y.,
othe statement below which is incorrect,
:. (irc 10 is equivalent to 0.02
h 8_25 is equivalent to '/,
BC L equivalent to 40%
" 3, is equivalent to 0.6
: 35% is equivalent to 3.5

{ six terms in a sequence are 1, 4, 9, 16, 25 and 36.

firs :
The the eleventh term in the sequence?

, What IS

Answer:

Flise and Lara have a total of 120 trading cards between them.
" glise has three times as many as Lara. How many does Elise have?

Answer:

o, Sheryl cuts a triangle from a rectangular piece of card, as shown.

7m

| ==x=- |
6mW-

-+

10 m

What is the area of the shape left over? Circle the correct answer.

A 60 m?
B 54 m2
C 44m2
D 46 m2
E 32,2

-

L
o be Photocopied 93
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ic accuratel
You have 10 minutes to do this test. Work s quickly and Y as yoy can
‘ou have 10 minu

g
1. Whatis 7980 = 3.8? Circle the correct answe

A 21

B 21

C 210

D 2100
E 21000

2. Liam asks his art class to name their favourite equipment to work with,
He records the results in the pie chart shown.

@
S

There are 28 people in his art class.
How many people said that paint was their favourite?

A 14:05
B 1535
C 1525
D 15:05
E 14:50

Test 30



ne shape shown below is made out of seven cubes.

circle the option below which shows the view when
ooking down from directly above the shape.

A B C D

Aiden has 3 stripy ties, 5 spotty ties and 12 plain ties.
What fraction of all his ties aren’t spotty? Circle the correct answer.

3
/20
17
Ion

m o O =8 >
W
fa

The shape shown is reflected in the dotted mirror line.

B4

6»-
y
4t

2...
0 246 810

A

What is the new position of vertex P? Circle the correct answer.
A

(
B (4,1
C 1,4
D (12, 4
£ (10, 4)
~n
Ot to be photocopied 95
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7. Sebastian cycle sach d
. M - 1e
What is the mean distance he cycles ea

s a total of 120 miles over a p¢

riod of 5 days.
ay?

8. Asheet of card has a thickness of 0.5 mm. Diego pllfas thglse?sheets
to a height of 8 cm. How many sheets of card are in his pile

9. The formula for finding the nth term in a sequence is 10 — 4n.
What is the third term in the sequence? Circle the correct answer.

A

m oo w

Test 30
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Answer:



‘:, 3. Marissa is painting a wooden

. _ l€n gate. The surface of the gate has an area of 12 m=.
She buys a tin of paint which will cover an area of 48 mz2.

What fraction of the tin of paint is left over when she has finished?
Circle the correct answer.

A s

moeA w
o

Madison’s bookshelf contains 200 books. 22% of her books are horror stories,
37% are sci-fi stories, and the rest are non-fiction.
How many of her books are non-fiction?

Answer:

: Test 31
T hotto be photocopied 2



5.

Test 31

n isosceles triangle.

The diagram below shows @

a

A )
r.
What is the size of angle a? Circle the correct answe

A 65°

B 165°
C 115°
D 125°
E 135°

George is reading a book which has 860 pages.

He reads at an average rate of two pages per minute.

Since starting the book, he has read for 1 hour and 20 minutes,

How many pages does he still have left to read? Circle the correct answer,

A 800
B 700
C 790
D 650
E 760

F O _9)
ootball Basketbal] Tennis - Key:

1 ball = 60 minutes

s aytes
Answer: minuté



v
(

yle below shows the number of pairs of different kinds of footwear

Th; ;b on's wardrobe.
in
Type Number of pairs
Smart shoes g
Boots 5
Trainers 8
Slippers 1
yhat fraction of his footwear collection is made up of either boots or slippers?
Ei le the correct answer.
A e
B s
c 'h
D s
E e

j. Malcolm thinks of five numbers. He writes four of them down:
13,7,9,16

" He says, ‘the mean of the five numbers is_1 2i i
What is the fifth number Malcolm was thinking of?

Answer:

0~|x2>2><25-1

¥is a positive whole number. What is the smallest number that x could be?

Answer:

)

~ .
h
Otto be photocopied 99

Test 31




Time for a break! These puzzles are a va«,

Equal Shapes

Split each shape on the
right in half to make two
identical smaller shapes.

Elevenses

Amelia writes down a trick to find out if a number
She uses the trick to show that 3091 divides exactly

. Add together all the digits in the even |
3091 0+1=1

| 2. Add together all the digits in the odd
| 3091 3+9=12

12-1=11

4. If the result is 0 or a multi
hah then the number divides e :

Use Amelia’s trick to answer the following:
= Does 29524 divide exactly by 11?2
® Does 312581 divide exactly by 11?2

® What is the only number be

tween 2165 8
that divides exactly by 112 ]

R e T e

7. Oubtract the smaller sum from the lan '



Test 1 — pages 2-4
1. 279000

undreds column is 6, which is
> you round the thousands up.

mberin the t

Goon the weekend Lisa reads 9 + 7 = 16 pages.

3. B

The cube measures 5em x 5emx Sem.
Eand
Soitswlimes5x 5x5=125cm

::; fof. 5Ahtre5 155-2=25litres, which is equal
102600m! Subtracting 1600 mifrom this gives
2500- 1600, Using partitioning. 1600 breaks into
1000+600. 2500 - 1000 = 1500, and

1500 - 600 = 900, s0 she has 900 mi left.

5. €

Find the mean by adding up the lengths and dividing by
the number of pencils. The 3 longest pencils are

14¢m 13cmand 9cm. The total length of these
514+ 13+9=36¢m.

Sothemeanis 36 cm -3 =12 cm.

6. 81m

There are 100 cmin 1 metre, 50350cm =3.5m.
Tofind the distance, add the depth to the height —
35446 4.6 breaks down into 4 + 0.6.
35+4=75and75+06=8.1 Soits81m.

7. D
376=188x2. 5064 x376=64x 188 x 2.
Youknow that 64 x 188 = 12 032, 50 double this:
12032x2=24064.
8. B
Theterms in the sequenice will all be odd, because
Youre adding 1to a multiple of 4 (which is even).
452185 even, s0 cannot dppear in this sequence,
9. B
Jare adds 5 tox to gvex + 5 She then multiplies
thsby 7. togive 7(x +5). SoBis correct. (Remember

that multiplication comes before addition in BODMAS,
S0 you need the brackets)

MeéxpPE7

10. C

a +b will always be bigger thanc,
aandb won't be long enough to Mmake a trigng,
Sooption A is always trye. Option B could bz :m
b can't be greater thana + for the same rvasona
thatoption Ais true. So option Cis definitely ot
true. Two lengths added together will always be
greater than O, soDis true, E could be trye,

Otherwise the sides

Test 2 — pages 5-7

1. D

Nore of the options have the 6 to the right of the
decimal point. So you're looking for the option where
the Gis closest to the decimal point (or where the
decimal point would be), which is D,

2. A

The angles in a triangle add up to 180°. Itis 2
right-angled triangle, so one of the anglesis 90°,
S0 the missing angle is 180°- 72°-90°= 18°

3, 1200 ml

This is an extra & peaple, which is an extra half of the
amount in the recipe. The recipe needs 80O mi tomato
sauce, 50 Tony needs an extra half of this: 800+ 2 =
400 ml. Adding this on gives 800 + 400 = 1200 ml.

4. B

A prime number only divides exactly by 1 and itself.
So the only prime number which is a multiple of 5is 5.
Any other multiple of 5 won't be prime, as it will divide
by 1, itself and also 5.

5. E

25% of the film is 35 minutes. 100% of the film s four
times this: 35 x 4 = 140 minutes. There are

60 mins in an hour; so 140 mins = 2 hours 20 mins.

6. A

There are twice as many red balls as blue balls.

So for every blue ball, there are 2 red balls, and soout
of every 3 balls, 1 is blue. So the fraction of the balls
that are blueis /3.

7. A ,
The total height of the stack is 240 ¢m. The height
of 2 boxesis 2 x 15¢cm = 505m,and240+.?0= "
24 + 3= 8,50 there are 8 lots of 2 boxes, which 15 I
boxes in total, Each box has mass 0.2 kg, 50 the &0
mass of the stack is 16 x 0.2. 16x 2=32,%0
16x0.2 = 3.2, The totalmassis 3.2 k4.

© CGP 2015
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4
?{,f horizontal sides add up to give two lots of 50 m,
.ind the vertical sides add up to give two lots of 30 m.
Sothe perimeteris (2x 50) + (2x 30)= 100 + 60 =
160m. 3 x 160 = 480, 50 James needs todo 1 more
lap to have run over 500 m. So he needs to run 4 aps.

9. C

4{x +5) =44 means that 4 multiplied by a number
gives 44, 4 x 11 =44, so the bit in the brackets is
equalto 11. (f x+5=11,thenx = 6.

10. B

Rachel has more,

50 you can rule
out.options D and

E. In pounds, Rachel
has about £0.50
more. Indollars, she

Pounds (E)

o N b oo

2 4 6
Dollars ($)

has about $0.80 more. So the answer is option B.

Test 3 — pages 8-10

1. 09,9

Moving 7 squares to the right gives anx coordinate of
9. Moving 2 squares down gives ay coordinate of 4.
So the coordinates are (9, 4).

2. 9

Inthe Piccalilll row there are 3/, squares. So there
were 3'/, x 4 = 14 piccatill sanawiches sold (you

can work this out using partitioning). In the BLT row
thereare 1'/, squares, so there were 17/, x 4 =5 BLT
sandwiches sold. The differenceis 14-5=9,

3. C

4%=004.%/100=003 and "/ 35="/10p= 0.05.
Option B has a 6 in the tenths column soit's bigger
than the other four options, which all have a O in the
tenths column. 0.03 has the smallest number in the
hundredths column, s0%/ 10016 the smallest.

4. B

There are 1000 gin 1 kg, 50 16.2 kg=16200g4.
Tofind the mass of just the sand, subtract the mass of
the bucket. 850 breaks down into 800+ 50,
16200~800= 15400, 15 400-50= 15 350.
So the sand has a mass of 153504

5. D

The cube has side length 2 cm, s0 on the net, one
facehas area 2 x 2= 4 cn’. There are six identical
faces onacube, so the totalareaic 4 x 6 = 24 cn?.

Mé6XPE]

6. E

Mrs Rogers has 4 + 3 + 1 = 8 stickers in total.
Four of them are square. As a fraction, this 15/,
which is the same as /.

7. 2:55pm
Four hours before 7:15 pmis 3:15 pm. 20 minutes
before 3:15 pm s 2:55 pm.

8. B

Angles in a quadilateral add up to 360°. Find the sum
of the angles giver: 49°+31°= 80°. And 216° +80°
=296". So the missing angle is 360° - 296° = 64°

9. 4949

Both parts of the calculation are muttiplied by 49.

So you've got ‘138 lots of 49’ minus ‘37 lots of 49,
which gives 138 - 37 = 101 lots of 49, or 101 x 49.
49 x 100 = 4900, and 49 x 1= 49.

8049 x 101=4900 + 49 = 4949,

10. E

The sequence of the perimeters of the shapes goes:
4,6.8,10.... S0 you're adding two each time. So the
first part of the expressionis 2n. In Shape 1, you
Need to add 2 to get 4, so the expression s 2n + 2.

Test 4 — pages 11-13

1. 43°C

The diifference between -25 °C and O *Cis 25 C. and

the difference between O °C and 18 “Cis 16 °C. Sothe
difference between~25Cand 18 Cis 25 + 18=43C,

2, B
The only factors of 27 are 1,3, 9and 27. 3isalsoa
factor of 48, and 9 is not, so the answer is option B.

3. B

The angles in a quadniateral add up to 360"

47 + 133+ 95 = 275° (use the column method).
Subtracting this from 360 gives 360 ~ 275 = 85°,

4. 36cm?

This is made of a rectangle and a triangle. The rectangle
has area 3 x 10 =30 cn'. The base of the triangle is
10-7=3cm soitsareais /ax3x4="/x12=
Gent. Sothe total areais 30 + 6 = 36 cnr

5. B

Use estimation — round 14.68 kg to 15 kg and round
1024 to 1000. S0 one full shipping container weighs

about 15 x 1000 = 15000 kg. Five containers weigh
15000 5=75000kg. Option Bis the only option

close to 75 000 kg, 50 the answer is 75 161.6 kg.

©CGP 2015



nails cost 5.x 5p = 9P

50 .
R 0 g0 the totalcost 18 £2.50 +

2o £2.50,60 1
S his change 15 £1

|
10 naits cost
A hammer ¢cs
‘f_)ﬁpz £2. 75.

S jvid
| . Eﬂ:erall the heights of the pants an:; 314 ;n by
o of plants. 19+25+28+32= .
the rumber of pi O )

104+ 4=26cm (You can us¢ pa

I8
! The scale starts i
! petween each 43y looks

ifference
¢ 15.n0t 0. 50 thed -
y bigger than 1t actually 15

D 2), which is the
g)mggns(r+2)+€r*2)1;§:+é_ 1=3x+5.

S(x +2)
5;5»1625&”5- S03(x+2)"

. C '
;Igre.w 5x 5= 15hats tostart with. Aftera blzue-
mzandzgmenharamgivenaw,z\(. thereare 15 - ,—g
153 hats. Nored hats have been given out, S0 there a

.. B
still 5. As a fraction, this i5 /15-

Test 5 — pages 14-16

1. B
Rournd each number to the nearest thousand — so the

sum becomes 67 000+ 10000 + 1000 =76 000.
The only number close to that valueis 77 785.28.

2. D
1020F60i5 60 + 10=6. 5%is half of 10%, 50 5% of

60is6+2=3 6015%=10%+5%=6+3=9.

3. 3 hours, 0 minutes

Mel has stopped when the graph is flat. The first time
was between hours 2 and 3, so she stopped for 1 hour:
The second time was between hours 5 and 6.5, so she
stopped for 1.5 hours. The third time was between
hours 8 and 8.5 so she stopped for 0.5 hours,
Adding these togethergives 1+ 1.5+ 0.5 = 3 hours.

4. 11

6litres =6000mi. 1 pint is 568 ml, s0 10 pints is
10x 568 = 5680 m. This isn't quite enough. Adding
on one more pint gives over 6000 ml, so the smallest
number of 1 pint cartons that you need to buy s 11.

5. D

Als false because 16 x 30 =8 x 60 < 8 x 800.
Bisfalse because 15 x 30 =30 x 15,

Cis false because 20 x 25 = 10x 50 > 10x 12.5,
Eis false because 45 x 1000 = 450 x 100 < 900 x
100. Distrueas 186=9x 2,and 48 = 2 x 24, 50 you
can write the equation as 9x 2 x 24 =9 x 2 x 24,

M6XPE1

0—£275-£725.

The space in the middle of Shape 2 i 6t

than the space in the middle of ha Meg blgger

it into 6 triangles). So multiply 8 b6 s xa; Can spy
: sag,

7. 14 m
Add up all the test scores and divide by
scores. 6+19+20+ 11=5¢, 56.

8. E

Angles on a stralght line add up to 180
=136°%%03x +x = 136", and s0 4y - 7
divide 136 by 4: 136+ 4 = 34°

9. 112
Other than 2 and 5, all prime numbers end in 7
Solookat 51,53,57 and 59. 51 ang s bo'j- 7org
by three so0 they are not prime. The question, divide
there are two prime numbers in this range. 5, «Zﬁs
prime numbers between 50 and 60 are 58 ang 58 onj
Add them together to give 53 + 59 112 9.

10. B

The angle for 4 is 180°, the angle for 2 js 90°any
the angle for G is 30°. So the angle in total o even
numbers is 180 + 90 + 30 = 300° 5o the angles fy
odd numbers are 360 ~ 300 = 60°. The dice js rolle dr
36 times, 50 each roll is represented by 360 .. 36

= 10" 5060’ represents 60+ 10 = 6 rolls,

thﬂ nu,nb
4 = 14 ef'of

780-_44.
36' Taﬁnd_x

Puzzles 1 — page 17

Moon, Star, Diamond, Circle

D=9 O|¥x| D|[15f—1+144:9
=4 DID|D|D|36

45 x| @)%

@=7 1+9+4+4 % ‘&ﬁ 4+9+4+4
# 26 4+2+5+4

Larry’s Test

If the difference between the highest and lowest mark
is 70, then Larry’s score must be either 28 + 70 = 96
or 93 - 70 = 23, If the most common mark is 68, then
Larry’s score must be 88, If the mean is 55, thenthe
total for all six tests must be 55 x 6 = 330. The other
scores add up to 329, so Larry’s score must be 1.

Test 6 — pages 18-20
1. B

Subtracting £635 from £990 gives 2
You can use partitioning or the column me

profit of £355.
thod here.

©CGP 2015
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2. £45
Using the speclal offer. you can buy 10 plants anqd get
¢he other 10 free. This would cost £4.50 x 10 = £45,

B
:r;here are 2 triangles out of a total of 6 shapes,
As a fraction, this 15 /. which simplifies to /.

B
;3 + 5= 4 remainder 3,50%%/5 = 4°%/5, Now turn the
Fraction part into a decimal. Multiplying the top and
pottom of /s by 2 gives %10 This Is equivatent to 0.6,
50%%5= 45/5 =46

5. D

The three angles in a triangle add up to 180°. Add up
the two angles you know, and subtract the total from
180° 51°+72°= 123" 180°- 123°=57".

6. 800m?

Theplatform 64 50 m x 20 mrectangle with a

20m x 10 m rectangle removed. 50 x 20 = 1000
(it's just 5 x 2 with two zeros on the end) 20x 10 =

200, so the platform’s areais: 1000 - 200 = 800 nP.

s D
77‘he total number of newspapers was 15+ 15 + 16 +
14 + 10+ 30 + 40. You can break this addition into
churks: 15+ 15=30, 16+ 14 =30, 10+ 30 = 40.
Sp the totalis 30 + 30 + 40 + 40 =60 + 80 = 140.
There are 7 days, so the meanis 140 + 7 = 20.

8. D

The time that she was sitting on the bench is shown by
the straight horizontal line. The time that she set off
back home is the point that the horizontal line ends —
this was 75 minutes after she initially set off
75=60+ 15, 50 thisis 1 hour and 15 mins. She set
offat 09:00, and 1 hour 15 mins after thisis 10:15,

9. 53

The difference between the terms increases by 1 each
time. So first you subtract 2, then you subtract 3,
then you subtract 4 and so on... So the fifth termis
64 -5 =59, and the sixth termis 59 - 6 = 53,

10. B
He starts with a total of S + S = 28 sweets and gives
away 30. So the number left is 28 - 30.

Test 7 — pages 21-23

1. B
A heptagon has 7 sides, so the perimeter i
120x7.12x7=84,50 120 x 7 =840 mm.

MeéexpPE1

M S

2. D

r"‘“‘rn-

3. C

;k;m: 1000m,5o740m=0,74kmand 120mis

+.021 km. So the total distance he walks is 0,74 + 25
.12 =3.36km (use the column method here).

4. 18

Reversethcapcmﬁons. 96+8=12. 12+8=18,

5.  £10.50

"IOZ of£70=£70+10=£7, 5% is half of this, which
16£3.50. 50 15%is £7 + £350 = £1050.

6. 300m?

The container has total volume 10x15x6=10x90
= 900 m (use partitioning or write out. the calculation
ifyou need). */3of thisis 900 + 3 = 300 .

7. 16

The ‘Tuna’ sector is 45° which is half of 90°. The ‘Trout’
sector is half a circle, which is twice 90°. So the Trout’
sector s four times bigger than the ‘Tuna’ sector Four
people said that tuna was their favourite, 50 4 x 4 =
16 people said that trout was their favourite,

8. D
Put n = 5into the formula: 20~ (4 x 5)= 20-20=0.
9. E

Als false because half of 29 is 14.5, which isn't a whole
number of conkers. B is false because if Callum had
collected half as many as Simone, then he would have 1
conker for every 2 of Simones. So the total would be
exactly divisible by 1+ 2 = 3, but it is not. Cand D are
false because an even number plus an even number and
an odd number plus an odd number both give an even
number, but 29 is odd. E could be true because Callum
could have collected 15 and Simone could have collected
14, which would give a total of 29.

10. B

The total number of people askedwas 2 + 3+ 9+ 10 +
7 + 4 =35. 10 people picked the ball marked D.

As a fraction, this is '%ss. Dividing the numerator and
denominator by 5 simplifies this to?/.

Test 8 — pages 24-26

1. 13700
You're rounding the 9. The number to the right of this is

5, 50 you round up to 13 700.

5 © CGP 2015

T¥e:



£ ‘el

2. C

Depth s a distance, soit can't be ml or m* (which
measure volume), ornt (which measures area). Most
wells are a lot deeper than a few mm — they are usually
several metres deep. S0 the most suitable unit is m.

3. D

The total number of cheese sandwiches sold was
B80-35=45. 12 of these were on white bread, sc the
number of cheese on brown bread was 45 - 12 = 33.

4, 23
Divide 161by 7. 161 breaksinto 140+ 21. 140+7
=20and21+7=350161-7=20+3=23.

5. B

After the reflection, the

shape looks like this ——

Ithas 6 sides, 50 1t'5 2 hexagon. S

6. 30

"a0f acircle represents 20 = 4 = 5 albums, s0 Jetf
has 20+ 5= 25 intotal. °/; of a circle represents
3x5=15 albums, so Noel has 20 + 20 + 15 = 55 in
total. SoNoel has 55 - 25 = 30 more than Jeft

7. D

For each pair, find the difference between each number
and 16.5 by subtracting. The correct answer s D:
165-159=06,and 17.1-165=06

8. C

Allthe poirits are inside the
shape, except for point
shown on the right.

9. 129
The angles in the triangle are 51°, 90° and
180°-90°~51°= 39" 504 1590°+39°= 129"
10. E
_TZere isaflat /zite of £4,50 the expression will be

+ 5omerﬁmg - Thereis a charge of, E0p per mile — in
gounds, this 15 080,0r 08, Ford miles, this will cost

8 xd,or08d, Sothe totalcostis 4+ 084

Test9 — pages 27.29

1. 106 minutes

The bus leaves Fuoiton at 09 o
21132 094610 10001 141 oo Vsl

0is 14 m ¥
11:0015 60 tiins, ang 11 o ouie

000 11:32 532 mi
S0 the total timeis 1 4+60+32= 106 minu,trlrs’vi

M6XPE1
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2. C
If you compare it to the other shapes, you can
g see
C has one block missing (from the ‘base' of the yﬁ:)“

3. A
Writing the value in figures gives 3025 m|
1litre = 1000 ml, 50 3025 mi = 3.025 litres,

4. 72kg
45 + 5 = 9,50 9 kg of hay feeds one horse for one day.
9x &= 72,50 72 kg would feed 8 horses for one day

5. 4

The factors of 30 are 1, 2, 3,5, 6, 10, 15, 30.
Out of these, 3, 6, 15 and 30 are multiples of 3,
So he circles 4 values.

6. B

Tim and Sue each won 4 games and Kym won 2 games.
Adding these together gives 4 + 4 + 2 = 10 games,
which is the number of games that lce won.

7. 107°

The sum of the angles in the pie chart i 360", The sum
of the angles you're given is 78 + 77 + 48+ 50=253.
S0 the missing angle is 360° - 253°= 107"

8. £7.10

Kevin spends £1.40 + £1.50 = £2.90 onhis
ingredients. He sells ten cakes for £1 each, 5o he
makes £1 x 10=£10. So his profitis £10 -£2.90.
You can use the partitioning method here:
£10-£2=£8and £6 - £0.90=£7.10.

9. C
A square has 4 equal sides, so it will have sides of
4B 4= 12m, Sotheareais 12mx 12m= 1441

10. E

He starts withx, then divides by 2,9Mingx * z M
he subtracts 15, givingx + 2= 19, Finally, he multipies
by 8, giving 8(x ~ 2 - 15).

Test 10 — pages 30-32

1. B

Use rounding. 52.45 to the nea
8.98 to the nearest 10is 10. 50 :
closest aption is 471.001, so the correct an

2. 89
37 breaks down Into 30 + 7. 30 ?
21,5037px3=90p+21p=111p 5015
200p- 111p=89.

rest; 1016 50.a4
x 10=500. T
werioB.

-90and7x%*
§=904 chi"ﬂ‘ﬁ

@CGszs

3. B
The most common response is the sector with the
biggest angle in the pie chart. This is 80", so the most

common response was 2.

4. 10m

The horizontal lengths add up to give two lots of 3.5 m.
The vertical lengths add up to give two lots of 1.5m.
Theperimeteris 15+ 15+35+35=5+7= 10m.

5. 117°

Angles in a quadrilateral add up to 360°. 81 breaks
downinto B0+ 1. 3x80=240and 3x 1=3.

503 x81°=240°+ 5°= 245", The remaining angle is
360°-243°=117"

6. 16

The number of dots ineach termis 1.4, 7, 10.. Soit
increases by 3 each time. Inthe Sth term, there will be
10+3=13,and inthe Gth there wilibe 13+ 3= 16.

7 E

All the times have 1 in the tens column, so compare
theunits. Tabby has the lowest units value (4), so she
came first. Dinah, Fam, Debbie and Moirah all have 5

in the units column, so compare their tenths columns.
Debbie has the lowest tenths value (1), so came
second. Fam has the next: lowest (2), s0 came third.

8. 50s
The highest point on the graph is halfway between 40 5
and 60 s on the time axis. This s 50 seconds.

9. E

The only card which doesn't have an; ty lines of symmetry
15 the one with the letter R’ There are 10 cards in
total, and 9 of them have at least one line of symmetry.
As a fraction, this is Yo

10. D

Ths;rv isaone-off cost of £150, so the expression will
be*150+ something”. Then there is a cost of £60 per
day. Forn days, this will cost. 60 x n, or 60n.

Sothe totalcostis 150 + é0n,

MéxPE1

Puzzles 2 — page 33

Blackboard Blues

Adding a vertical line to the minus sign will tum it into a
plussign: 10+ 5 = 15

Adding a horizontal line to the secord 1in 117 will turn
itintoaplussign: 1 +1+1 =3

Adding a horizontal fine before the 2 will turn it into a
negative: 1 =3 = -2

Adding a horizontal line to the 1 will tum itintoa 7:
1+7=14

Adding a diagonal line to one of the + signs will turn it
intoa4: 545+5 = 550

Drawing Straws
It takes 2 moves to create 4 equilateral triangles:

B8

It takes 2 moves to create 2 equilateral triangles:

8- L

It takes 6 moves to create 1 equilateral triangle:

N N %
Test 11 — pages 34-36
1. C

There are ten steps from 1.2t0 1.3, 1.3-1.2=0.1,
soeachstepisworth0.1+ 10=0.01. Toget to
1.24, count on 4 steps from 1.2. This brngs you to C.

2- c ‘;- o Train = o = 5! N
If Craig turns 90° Grest - e il
anticlockwise,he  © ' ‘I‘

will be facing west, 4| _Foms Dodgerns,
and will see the S 1 ’
Ferris wheel. i i
3. £5.20

4 bags cost 4 x £1.20 = £4.80 (use partitioning if
you need). So her changeis £10 - £4.80 = £5.20.

4. A
The angles at opposite comers of a parallelogram are
equal. o0 angie F = 68°

© CGP 2015
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5. D

The 3D appearanice of the pie chart means that the
vanilia section looks biager than the others, because
you Gan see more of the side of That section.

6. 6.3 litres
Beckybuys 10x 330ml = 3300 ml of lemonade.

1 litre = 1000, 50 3300 mi = 3 3 litres. Shealso
buyys2x15=3 litres of cola. In total, this is

33+3=63Itres

7. 4350
The total rumber of tickets sold is 1289+ 1455 +

1606 = 4350 (use the column method here)

8. E

The net s for a cube of side length 10cm, soeachof
the faces 52 10cm x 10 cm square. The skeet of
caraboard has 4 length equal to 4 squares and a width
equal to 3. So the cardpoard measures 40 cm by
30cm—itsarea s 40cmx 30cm= 1200 en?.

9. D

The mean of the 5 rumbers is 180, So the sum of the
5 mmbers is 5 x 180. 180 breaks into 100+ 80.
5x100=500and 5x80=400,505x 180 = 200.
155+ 162 + 190+ 198 = 705 (use the column
method). The missing numbper 15 800 - 705 = 195

10. E

Alce 15 A years old, and Barmey's age 15 twice this.
S0Bameyis 24 years od Charieng is 4 years younger
than Bamey, 50 her age 15 24 - 4. You're toid tnat
Charteneis 16,50 24 - 4 = 1615 the correct equation.

Test 12 — pages 37-39

1. 73414

1562 15 100 times smaller than 1562, 50
1562 x 47 i5 100 times smaller than 1562 x 47,
Thists 73414~ 100=734.14

2 C
Substract the 289 m from 5 76 m:
5%
-2839
287
3. 325 kg
10009=1kg,50 15504 = 155kg. 155+ 1.7 =
325k (use partitioning or the column method).
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4. A

Cecilizate®/:, of the sandwiches. There were 1 2
sandwwffes, 50 /1215 1 sandwich. SoCecilia ate 5
Paulate '/, of the sandwiches. '/, 0f 12212+ ..
so Faul ate 3. Art ate the rest, which is 12-5-3

5. 42cm

The perimeter of Shape 1is 5 times the side length of
each tile. So the side length of each tile is 30 cm +5
=&cm. The penimeter of Shape 2 is 7 times the side
length of the triangular tiles. Thisis 7 x 6 ¢cm = 42¢m.

6. C

There are two lines of symmetry — T horizontal and
1 vertical

7. C

10%0f£18is £18 -~ 10=£1.80.

So the sale priceis £18-£1.80=£16 20

8. D

The number of peaple is 6000 = 750. You can simplify
this division by cancelling down the two numbers, iike
simplifying a fraction. 6000 - 750 = 600 + 75
(divide by 10) = 200 - 25 (divide by 3).
100+25=4,50200-25=8.

9. 58

The differences between the first five numbers in the
sequenice are: 2, 4. 6, 8. The difference increases by
2 each time, so the sixth number will be 80 - 10=70
and the severth iumber will be 70 - 12 = 58.

10. D

The points on the graph for each week show the total
raised by the end of that week. So the total raised
during the fourth week is the difference between the
total at the end of week 4 and the total at the end of
week 3. The graph shows that the amount raised by
the end of week 3 was £1200 and the amount raised
by the end of week 4 was £2 100. So the amount
raised during week 4 was £2100 - £1200 = £900.

3,
=4,

Test 13 — pages 40-42

1. 7
From the chart, 13 people said Ape'and 6 people said
Duck. Sothe differenceis 13-6=7.

2. C

YouTre looking for the next longest after 1825m.
Abigails and Zora's distance are both longer than this.
50 you want the iongest distances out of Alexe.Li and
Dina. This is Lis distance of 1604 m.
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13
%-x 12=72 9012 boxes wouldn't be enough.
e ox would let her hold atotal of 72+ 6=
;”Jeaﬂs. whick would be enough. S0 she needs 15
4. (3,8

4 rrombus always has lines of symmetry through
ite comers. 50 Kmust be the same horizontal
nce From (8,5) and (8, 11) 25 (13.8). 13-8
o thex coordinate of Kis 8~ 5= 3. Kmust be
came vertical distance from (8, 5) and (8,1 1)as

8) iz, 50 itsy coordinate must atso be 8.

D
=100 cm, 50 5.5 m= 550 cm. So thelengthleft
overwill be 550 - 75 =475 cm. This is4.75 m.

8
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5

[
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T
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6. 63 cm’

You can split the whole logo up itto
smalier squares, 25 shown.

There are 7 smalier squares, each
of area 9 e, s0 the total area of
theiogois 7 x 9= 63 cnt.

7. B

The perimeteris the total distance Jenny walked,
2650 m. Take away 2 x the length:
2650m-850m-850m=1800m -850 m =
950m. 50950 mis 2 x the width, so the width of the
fieldis 950 m -2 =475m.

8. C

The difference between hottest and coldest was
27°C-14C=13°C s0Aisnt true. The maximum
was 27 °C and the minimum was 14 °C, so Band E
aren't true. The most common value was 27 °C (it
appears twice in the list), so D isn't true. inorder, the
temperatures are: 14 °C, 18°C, 24 °C. 27 °C,27 °C.
So the third-coldest temperature was 24 °C, and so
Cistrue.

9. B

Start by finding the other unknown angle in the
tnangle. Angies ona straight line add up to 180", 50
thisargleis 180°~65°= 115°. Angles in a triangle
addupto 180", 50 115°+ 30°+x = 180",

50 145°+x = 180", andx = 180°- 145°= 35°.

10. D

3m ~ 7= 20 means that 20is 7 less than 3m, so
3m =27. Theonly number that multiplies by 3 togive
27i59,50m=9.

M6XPE1
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Test 14 — pages 43-45

1. C

You're adding 2 number to 37 to make 121, and the
opposite of addition is subtraction. Suptracting 37
from 121 gives 64.

2. A

Pentagons have 5 angles. The angles ina reguiar
perttagon are all obtuse angles (between 90° and 1807)
50 3 reqular pentagon has no acute angles.

3. 863.8
0.7 =7~ 10,50 1234 x 0.7 will be equal to 1234 x 7
divided by 10: 8638 = 10=8638.

4. 3

The two smallest classes are Class 3 and Class 5. On
the pictogram, Ciass 3 has 4 circles and Ciass 5 has
33/, circles. Each circle is worth 4 pupils. So Class 3
has 4 x 4 = 16 pupils. The three full circles for Class 5
represent 3 x 4= 12 pupils, and the */; of a circle 15
another 3 pupils. S0 Class 5 has 12+ 3 =15 pupils.
S0 the combined group has 16+ 15 = 31 pupits.

5. D

Count on 142 minutes from 14:45 in steps. 14:45 is
15 mins before 15:00. 14215 = 127. so0 thefim
ends 127 mins after 15:00. 1 hour = 60 mins, 50

2 hours = 120 mins. So the film ends at:

15:00 + 2 hours + 7 minutes, whichis 17:07.

6. A

Imagine the two larger sections each spiit in half. This
would give 8 sections in total. 3 of these sections
would have a star (the large star section would create
two smaller star sections). So the fraction of the
spinner made up of star sections i /.

7 D
The volume of the cuboid is 6 cm x 4 cm x 2.5 cm.
4x2.5=10, s0thevolumeis 6 x 10 =60 c?’.

8. A

1litre = 1000 ml, 0 1.75 litres = 1750 mi.

So the total amount of paint is 1750 + 480+ 610 =
2840 ml (use the column method).

She uses half of this, so she has half left over

This is 2840 ~ 2 = 1420 mi, whichis 1.42 litres,

9. 204

Joan took as many photos on day 7 as on days 1-6 put
together Soshetookhalfofaﬂherphotosonday 7
Half of 800 is 400, 80 she took 400 photos on days
1-6. Ondays 4-6 she took 53 + 124 + 19 = 196
photos. Soondays 1-3 she taok 400 - 196 = 204
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10. 71

The number of squares in each patternis 1.5. 11, 19.
So first you add 4, then 6, then &, and soon. Sothe
number of squares added increases by 2 each time.
Sothenext termsare 19+ 10=29,29+12=41,
474+ 14=55and55+16=71.

Test 15 — pages 46-48

1. C

Foint F is 3 squares away from the mirror line. so its
refiection will also be three squares away from it, but on
the other side of the line. This is (-2, 4).

2. -22

Ifyou subtract from a negative number, it gets further
away from zero on the number line, sp counting down 9
from -13 gives -22.

3. D
The total number of seats is
9x11+10x12=99+120=219.

4. B

There were 60 people in total, and 28 had a ham
sandwich, 50 60 - 28 = 32 people had a cheese
sandwich. 15 of those had a banana, 50 32 - 15 =
17 people had a cheese sandwich and an apple.

5. D

The first three options are too small — 500 miis only
about the size of a small bottie of water.

150000 000 mlis 150 00Q litres, which would be
an enormous amount for just 4 fish. So the sensible
answeris 150 000 mi, or 150 litres.

6. A

The sport section of the chart is 60°. The full circle is
360", 50as a fraction, the sport section is %/sz, =
©/s6= /g 0f the pie chart. There are 24 hours in 2 day,
50 the number of hours of sport is 24 = 6 = 4 hours.
7. D

The faces all have either two or four lines of symmetry.

1.4 and 5 have four lines: e e e
ool |sle
2,5and 6 have twolines: Tq o @
(3K )

S0 the only pair where both have the same number of
lines of symmetry is D.

MEXPE1
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8. 1

Check the facr.ons of 66 that are greater than 5ang
see if they're prime. The first one 186, but this jsn’s
prime. The nextoneis 11, which is prime. Sp 11

be the number he's thinking of. s

9. 92 m?
Divide the shape up into two rectangles:a 9mx 8 m
oneznda5mx(13-9=4m)one. The totalarea i
the sum of the two: 4x5+9x8=20+ 72=92n7.
10. £6.60

tis the number of toppings, so here t =

X 4. So the pri
wilbeP=5+(04x4)=5+16=6 price

6 This is £6.60,
Puzzles 3 — page 49

Whose House?
19:Edgar, 21:Bex, 23: Carmie, 25: Don, 27:Anna.

Crazy Computer
¥=5v=80=1A=3Y=0%=2m=4
8=71=68=9

The code Captain Calculator needs to enteris 9402,

Test 16 — pages 50-52

1. C
The section of the pie chart with the biggest angle is
the most commion colour — this is silver.

2. 20

There are 1000gin 1kg, 50 1.5kg= 1.5 x 1000=
15004. 754 x 2=1504,and 1504 x 10= 15004,
50 Chelsea can make 2 x 10 = 20 piles of sugar.

3. C
Add up all the ages and divide by the number of children:
11+8+4+3+3+1=30 30+6=5.

4. 47°
Angles in a straight ling add up to 180"
Sox = 180°- 133°= 47", (Do this using partitioning.}

5. B

Use estimating here — round 807 down to 800
and 4096 down to 4000.

Then 800 x 4000 = 3 200 000. The only possitle
optionis B, 50 807 x 4096 = 3 305 472.

6. B

Tis 5 units directly above line 5. Soline L will be 5 units
above line S at all times, because they are paml{el. S0
at they-axis, Sis at (0, 2). 5 units above this is (0. 7).

© CGP 2015
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7. 9
Work backwards here. 44 -2=22. 22-4=18.
18- 2 =9 5o Cally started with the number 9.

. A
8./:0f240,'5240-5=50 Now work out 15% of 80:
15% = 10% +5% 10%0of60is
80 - 10=8 5%ishaifof 10% 50 5%0f80is
B8-2=4 5015%0f80isB+4=12.

9. A

If the width is x m and the length is 5 m more than

the width then the iength is (x + 5) m. The areaof a
rectangle is the width multiplied by the length — so the
garden’s areaisx(x +5). You're told that the areais
126 n¥, s0 the equation isx(x + 5) = 126.

10. C

/s of the sweets are cherry, which is 5 out of 25.
After John has picked and eaten one cherry sweet,

4 out of 24 of the sweets are cherry. Writing this as a
fraction, */24 is the same as /.

Test 17 — pages 53-55

1. C

Hexagons are shapes with six straight sides. Cis the
only option that has six sides.

2. 200503

Two hundred thousand is 200 000. Five hundred and
threeis 503. Adding these together gives 200 503.
3. 3

Readiing off the graph, you can see that on Friday, Linda
sold 11 guitars and Wayne sold 8 guitars. So the
differenceis 11-8=3.

4. C

Convert them allinto the same form. 50%is the same
as05. %/1pis the same as 0.4, 1/2 is the same as
0.5. The smallest decimal is 0.4, 50 the answeris*/y.
5. B

Toget from one term to the next you addon 1, then 2,
then 3, and s0 on. So the next term after 11 is
11+5= 16, and the term after thisis 16 + 6= 22.
6. D

The area of a triangle s '/, x base x height. Sothe
area of this triangleis '/; x 9x 6. */, x 6= 3,50
Y2x9x6=5x9=27 cn.

M6XPE1
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7. D

45 9x 66 2615 the same as 459 x 6626 except
there are three digits after the decimal points Taking
3041 334 and moving the decimal point three places
to the left gives 3041 334,

8. C

If Louise bought: 3 kg made up of 500 g bags,

then she would need & bags. This would cost
£1.60 x 6 = £9 80 (use the partitioning method).
If she bought 3 kg made up of 1.5 kg bags. then she
would need 2 bags. This would cost £360 x 2 =
£7.20. The difference is £9.60 - £7.20 = £2.40.

9. C

Combining thex terms gives &x + 2x = 8x. Combining
the number terms gives 3 - 8 = -5. 5o it simplifies to
&x-5.

10. D
An octagon has 8 sides, 5o put 8 into the expression
— 180(8-2) = 180 x 6 = 1080° (use partitioning).

Test 18 — pages 56-58

1. C

10 bananas would cost £0.18 x 10=£1.80.

11 bananas would cost £1.80 + £0.18=£1.98
Another banana would take the cost over £2, so he can
buy 11 bananas.

P A

mm, cm and m are all too small to measure this
distance. m° measures area, not distance. So km is
the most suitable out of the options given.

3. 233kg

Sarah's heaviest petis 23.5kg. Herlightest pet is
200 g which is equal to 0.2 kg (because 1 000g=
Tkg). The differenceis 23.5 - 0.2 = 23.3 kg.

4. C

The shorter side + the longer side make up half the
perimeter of a parallelogram, which is 62 = 2 = 31.

So the length of the shorter sideis 31 - 19 = 12 cm.
5 D

You can find this by subtracting 2 from each option and
seeing which one gives a multiple of 3. 23 -2 = 21,
whichis equal to 7 x 3,50 23 is the correct: option.
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6. 4
In the rows for Mrs Robinson and Miss McKenzie, there

15 a total of 81/ pictures of CDs, representing 34
(CDs. Thers is a quarter of a picture of a CDin the row
for Miss Elliot, so the fumber in the key must divide
exactlyby 4 8/;x 4= 34, 00 the answer is 4

7 €
You're rounding to the nearest thousandth so you have

tolook at the last digit in this number — it 6, 5o you
round the thousandths digit up to give 7892.322

8. C

Monday to Friday is 5 days, o Miss Leigh
marks 50 +45 +40 + 35 + 30 = 200 papers
(you can use the column method here).

9. 3
Joining the first cross will make a triangle. Joining the

second cross gives a square (a regular quadilateral).
The other three crosses make kites, which are irregular
quadniaterals

10. 12

The width is 2x. and the length is twice the width,

ie 2xx 2 =4x. Sothepermeteris 2x + 4x + 2x + 4x
= 12x. If Joanra paints x m per minute then it will take
12 minutes.

Test 19 — pages 59-61

1. E

The factors of 30are 1,2, 3,5,6, 10, 15, 30.

The factors of 15are 1.3, 5, 15. So there are four
factors the same — all of the factors of 15.

2. 27°C

The warmest temperatureis 11 °C, and the coldest
is =16 °C. The difference between -16 and O is 16,
and the difference between Oand 11is 11. So the
difference between-16and 11is 16+ 11=27°C.

3. 100 seconds
Amy takes 25% longer than 80 seconds. 25% of 80is
80+4=20 SoAmytakes 80+ 20 = 100 seconds.

4. C
2500m=25m. Thearea is width x length, which is
25x4=10n7.

5 C

Round 35 274 to 40, and round 6. 35t0 6. So there
are about 40 x 6 = 240 ounces in a stone. The only
answer close to thisis 224.

M6XPE1
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6. 10

Th; men'bar for skiing ls 7.5 units tail. Each vert, 1
unit represents 2 people, so this is 7,6 x 2 = 15 ::,a
The women'bar for skiing I 2.5 units ta, This i5 -
25x2=5women 50 15-5= 'IOmommcnth
women chose skiing. “

7. E

A scalene triangle has no lines of symmetry,
Anisosceles triangle and kite each have 1 line of
symmetry. A rectangle has 2 lines of. symmetry, and.
equilateral triangle has 3. So the answer is a;m"an E -

8. A

There are six sides of length 1 cm and ten sides of
length 5 cm. So the perimeteris 6x 1+ 10x 5 =
6+50=56¢m.

9. E

Making a triangle from A or D gives a right-angled
tnangle. Making a triangle from B or gives an
isosceles triangle. So the answeris E.

10. B

The best way to do this question is tojust try the
options — for option A youget '/, x 5 x 6= 15. For
option B you get Yyx7x8=28. Sothe answeris 7,

Test 20 — pages 62-64

1. B

There are 100 ¢cmin 1 m, so the road is
236515+ 100=2365.15mlong.
Thereare 1000 min 1 km, so the road is
2365.15 + 1000 = 2.36515 km long.

2. 10
The sector for Comedy'is 60", and ®/ seo="/5.
S0 /g of the peo{ule asked said Comedy. 60 peaple

were asked, and '/gof 60 is 60 + & = 10 peaple.

3. B

You can make a triangle, A PAYAYA
paralielogram, trapezium

and hexagon, as shown. E %
So the answer is B — rectangle.

4. B

The area of the triangular face is '/, x 9 x 5. 50 the
volume of the prismis '/;x 9x 5x 4=9x5x2=
9x 10=90¢n?.

©CGP 2015

5. 8708

24 bags of crieps weigh 24 x 30 =720 (use
partitioning by breaking 24 into 20 +4). Adding on the
weight of the box gives 720 + 150=8704.

6. 18.88 s
The slowest time was Andrews at 47.82 5
The quickest time was Thomag's at 28.94 5.
Subtract to find the difference:

% B2
-28 94

75 88
S0 the time difference was 1888 seconds

7. D

Jf a number is a multiple of both SandGthenitisa
multiple of 30. To find the multiples of 30 between
400 and 500, you can divide all the numbers by 10 —
50 look for multiples of 3 between 40 and 50. There
are three — 42, 45 and 48 So multiples of both 5
and 6 between 400 and 500 are 420, 450 and 480.

8. C

You're looking for the formula that The Number
Cruncher uses. Try out each expression and see
which one works. The numbers that go into the
Number Cruncher are the different values of x and
the numbers that come out are the results of the
expression. 2x + 7 is the only one which works
for all the numbers, so the correct optionis C.

9, €

The field Gregory is ploughing has an area of

300 x 400 = 120000 1. If he ploughs 200 n per
minute, then itll take him 120 000 - 200 = 600 mins
to plough the field (use cancelling down here).

There are 60 mins in an hour. s0 600 mins is

600 - 60 = 10 hours. Gregory starts at 9:00 am.
Ten hours after this is 7.00 pm

10. E

Try each option as the starting number for Keith's
sequence. For option A, the sequenceis=1,1,1,1,...
For option B, the sequence s 0, 0, 0,0. ...

For option C, the sequence is 0.5, 0.25,...
For option D, the sequenceis 1,1, 1, 1,...
For option E, the sequence s 2,4, 16, ...

Option E is the only sequence where each term is
greater than the previous term, so 2 was Keith's
starting number.

M6XPE1
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Puzzles 4 — page 65

The Chess Tournament
The only possible option for the next game s
Andrew against Mohammed.

Pete’s Pieces of Pizza
Eg forPizza 3: :

Pizza 4 canbe cut into 11 pieces:

Make a table showing the Fizza number and the
maximum number of pieces that can be cut from it:

Pizza 1 & | & 4
Number of pieces | 2 4 7111
¥ v A
+2 +3 +4

To find the next number of pieces, you add on one more
than last time. So for Pizza 5 therewillbe 11+ 5= 16
pieces, and for Pizza 6 there will be 16+ 6 = 22 pieces.

Test 21 — pages 66-68

1. 13.5mm

An equilateral tnangle has 3 equal sides. So the
penimeteris 3 x 4.5. 4.5 breaks downinto 4 + 0.5.
3x4=12,and3x05=15
503x45=12+15=135mm.

2. C
A, B D and E each have 1 line of symmetry.
C has 4 lines of symmetry.

3. D
You're looking for the month with the biggest difference
between the heights of the two bars. This is April.

4. 4280

You're adding two values which are both the result of
multiplying something by 2140. Soits 1.1 lots of
2140 plus ‘0.9 lots of 2140, which gives
1.1+09=2lotsof 2140. 2x 2140 = 4280.

5. D

Add up the prices of all items on the table
4.00+320+6.00+2.00+080=1600.

She spends £14, so0 the one item she doesn't buy has
price £16 - £14=£2. This is the glove.

6. C

AB i5 vertical. so PQ must be horizontal. So P and
Q must have the samey coordinate. The only option
where P and Q have the samey coordinate 15 C.
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7. C

= - N
Sobhins sequence s 50 36, 26, 14,2
So she will count. the number 2

8. -1°C

16.30i6 4"/~ hours afternoon (12.00) The
temperature drops 1°C every half an hour: 50 it drops
2 Cevery hour Over /- hours, the temperature will
dropby (4x2)+ 1=9°C 9 Cless than8 Cis -1 °C.

9. 125cm’

The wicdth of the whole shape 1s 25 cm. It is 5 squares
wide 50 the side length of each square 15 25 cm - 5
=6em So the area of one square is 5 x 5 = 25 onr
There are 3 whole squares and 4 half-squares. The 4
half-squares make 2 full squares. This gvesa total of 5
whole squares. So the total areais 5 x 25 crm
4x25=100,905x25i5 100+ 25= 125 Sothe
areals 125cnr

10. D

10% of 50is 50 + 10 = 5, 60 there are 5 ready salted.
/s 0f 5015 50 < 5 = 10, 50 there are 10 cheese and
pickle. There are also 10 prawn cocktail. Adding these
upgives 5+ 10+ 10=25. Sothereare 50-25 =
25 roast chicken. So the flavour with the mest bags is
roast chicken.

Test 22 — pages 69-71

1. C

Sally will make a cup of tea at: 09:00, 10.30, 12.00..
Jordimakes a cup of tea every hour, 50 he will also make
oneat 12:00

2. B

The stripof cloth measures 8.4 cm. 10p percm would
cost 84p. s0 Spper ctis half of this, Bdp - 2 = 42p.
Thisis £042.

3. 19
The calculation on the left is the same as 4 x 38.

Bisdouble 4, 50 the number you re looking for must be
half of38. 38 - 2= 19,

4 A

500 gis half a kilogram, <o there are 12 lots of
500gin6kg. 12x99p=12x£1-12x Tp
=£12-12p=<£1188.

5. 6

The total number of fish for the first 4 days is
4x7=28 Sothe totalover the 5 days s
28+2=30. The mean for this periodis 30 - 5 = 6,

M6XPE1
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6. B

Find the point halfway between 4 and 5 onthe
horizontal axis. Read up to the line, then across to
the vertical axis. You end up halfway between 3

which is 3.50 Westmoniand Dollars, o
7. 40

First take off the extra 13 that Harriet hag
67-13=54. This number of pigeons is split equally

between them, so they each have 54 + 2 = 27 Addin
the extra 13 back on gives 27 + 13 = 40, g

8. D
The 5 angles add up to make a right angle (907).

Soa+2a+b=90" Thea and 2a add togeth
the expression 3a + b = 90°, ek

9. 144°

The whole pie chart is 360", 10% of this is 36° so 40%
is 4 x 36° 36 breaks into 30°+ 6°. 4 x 30°= 120
and4x6°=24°504x36"= 120"+ 24°= 144°

10. A

Think of the box as beinga 10m x 7 m x 3 m cuboid
witha 5m x 3 m x 3 mcuboid removed. 10x 7 x 3 =
10x21=210n" 5x3x3=5x9=45m".

S0 the box has volume 210 - 45 = 165 m®.

Test 23 — pages 72-74

1. C

Use the horizontal lines on the chart to help you
compare the heights. Adding the Bus'bar to the Car'
bar will give a total height the same as the Blke'bar:

2. A

The amount of water in the beakeris about "/5 of the
totalvolume of the beaker. So 100 mlis the best
estimate for the amount of water.

3. 260 mm?

The area of the rectangle is 10 x 22 = 220 mn.
The area of each triangleis '/, x base x height =
"/, x 10 x 4= 5x 4 =20 mnt. Sothe totalarea of
the whole shapeis 220 + 20 + 20 = 260 mm’.

4. 76 miles
His mean dally distance was 532 miles + 7.
The best way to find this is write out the calculation:

076
7[532

5. 12

The sequence of her distances is 4.6, 8, 10, 12,14,
16,18, 20,22.24, 26..

26 i5 the 12th term, 50 she runs 26 iles in week 12.
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6. A .
The hole has two sides of length Bem, two sides of

length 3 cm, and four sides of length Gem.
Go the perimeter is 2x8+2x3+4x6=
16+6+24= 16+ 30=46¢cm.

7. E

Out of the numbers 1-6, three of them are factorsv1 of
10 — these are 1,2, and 5. As a fraction, this is~/g.
which is the same as /2.

8. D

There are 100 cmin T m, so there are 200 lots of

05 cmin 1m. Solt takes the snail 200 seconds to
travel 1 m, whichis the same as 3 minutes 20 seconds.

9. B

There are 200 houses and the postman delivers to

2 houses per minute, so it takes him 200+ 2 = 100
minutes. Including the break, this gives 100 + 20 =
120 minutes, which is equal to 2 hours. Two hours
after 4:20 am is 6:20 am.

10. C

0.75 litres of red paint: + 2.25 litres of yeltow paint
gives a total of 3 litres of tangerine paint. Four lots of
this will give the total of 12 litres that she needs. So
the amount of red paint she neede is 4 x 0.75 litres.
0.75 breaks into 0.7+ 0.05. 4x0.7=2.8 and
4x005=02,904x0.75=28+0.2 = 3litres.

Test 24 — pages 75-77

1. B
270°is%/40f a turn. %/ of a tumn clockwise will land
the pointer on the section labelled with the letter B,

2. B
5x50p=£250. 10x 20p=£2. This gives a total
of £4.50, s0 the rest is 50p, which is 5 lots of 10p.

3 i€

2 hours after 10:53 is 12:63. Another 7 minutes
takes you to 13:00. There are 42 - 7 = 35 minutes of
Journey time still remaining. So he arrives at 13.35.

4. £18

The total number of cars he washed was:
5+446+7+8=30 Sothemeannumber of cars

washed per day was 30 + 5 = 6, and the mean amount
he earned was 6 x £3 = £18.
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S 1

The width of the box is 3 cm, soit's wide enough to hold
exictly 1 cube. This leaves 1. ¢minits height. which
{sn't big enough to fit another cube, and 2 cm in its
Iength._whmh also sn't big enough for another cube.

S0 just 1 cube will fit-inside the box

6. C

Go through each option in turn:

10%of 15815 158+ 10=158.

"/,0f 3015 30 + 2 = 15,60 you can rule out option A.
0.1x 100 = 10, 50 you can rule out option B
Vsof24i524+3=8 50°/3 i6Bx 2 = 16,50 you
can rule out option D.

10%0f90is 90 + 10=9.50 20%is Ix 2= 18,50
You can rule out. option E.

So option C gives the smallest answer.

7. D

60 cmis 75% of the original size. You need to find
100%, so first find 25% and then multiply by 4.
75+5=25,00 25%i560+ 3=20¢m. Then4x25
= 100, so the original painting size is 20 x 4 = 80 ¢m.

8. 37%
The Brown'section starts at 22% and ends at 59%.
The percentage for this section is 59% - 22% = 37%

9. C

All of the points on this line will have x andy
coordinates which are negatives of each other.

The only one that doesn't match this is (2, 2), where
thex andy coordinates are the same.

10. D

There are 2 sides of length 4x and 2 sides of length 2.
So the perimeteric 4x + 4x + 2+ 2= Bx + 4

Test 25 — pages 78-80

1. A

90°is "/ of atumn. Turning the shape '/ of 2 tum
anticlockwise gives shape A

2. B

Bis the only one which follows the rule:
(2x3)-2=6-2=4and(4x3)-2=12-2=10.
3. £11

10buzz cuts gives 10 x £5.50 = £55. 5 fat tops
gives 5 x £9 = £45. Adding these together gives
£55 + £45 = £100, So £44 came from mohawks.
£44+4=£11,
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4. 60cm

Each triangle has penmeter 45 cm, 50 has side length
45 = 3=15cm. The new shape has 4 sides of length
15 cm, 50 has penmeter 4 x 15 =60 om

5. C

The lengths of the fish pictures show the number of fish
caught with each rod — so the Angler's Dream caught
4 fish and the Fish-o-matic caught 12 fish But the
Fish-c-matic picture looks a lot more than 3 times
bwager than the Angler s Dream picture, which makes it
seem like it caught even more fish than it actually did

6. C
Of the options, 1110 and 1105 will round to 1110 to
the nearest 10 1105 is the smallest of these.

7. E

1 picture represents 4 eggs, so 8 pictures represents
Bx4=32eggs "/;0fapicture represents 1 egg, so
%eofa picture will represent the 3 remaining eggs.
Soin total, Rhoda needs 8%/ egg pictures.

8. 70°

Angles arpund a point add up to 360°. The 20" 40°
and 90° angles add up to 150", and the 2x and x
angles add up to 3x S0 3x + 150° = 360°

360° - 150° = 210" (use partitioning or the column
method), 50 3x =210° 210-= 3= 70, s0x = 70"

9. 720g

450 g of mirce for 5 people means that she uses
4504 +5=90 g per person. So for 8 peaple, shell
need8x90g=7204.

10. D

/5 are from Britain, so the total number of stamps
can be divided exactly by 5 "/ are from France, so
the total number can be divided by 3, and "/, are from
Sweden, so the total number can be divided by 4

The only option which divides exactly by 5, 3 and 4 is
60(60-5=12,60+3=20,and60 -4 = 15).

Puzzles 5 — page 81
Maths Crossword
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Test 26 — pages 82-84

1. C
You find each term by subtracting 10 from the previpys

term. S0 contiruing the sequence will go 25, 15,
Sothe fifthtermis 15, "

2. 29 670

43=43x10and 690 = 6.9 x 100, 5043 x B0 wil
be 10 x 100 = 1000 times bigger than 4,3 x 6.9,
2967 x 1000=29670.

3. %

Out of the numbers 1-6, five of them are factorsof 12
—1.2,3,4and 6. As a fraction, this is 7,

4. D

The diameter of a circle is the distance all the way
across. S0 this is double the distance from the centre
to the edge. So the diameteris 2 x 32 cm = 64 om,

5. D
Read off the graph at 1910:
Population
(thousands  100-
of people) i
od ;
1800 1850 1900 1950
Year

It is approximately 180 000 people.

6. C

1.7kg= 11004, so there are 1100+ 100 = 11lots
of 1004. So Audrey needs to cook the chicken
for 11 x 5+ 25 = 55 + 25 = 80 minutes.

This is equal to 1 hour 20 minutes.

7. B

Ezch leg has volume 4 x 4 x 50 = 4 x 200 =800 cnt’.
Four legs have a volume of 4 x B00 = 3200 ¢

The topis 20 x 20 x 1= 20 x 20 = 400 ¢n?.

So the total volume is 3200 + 400 = 3600 ¢nr.

8. D

If Ethan gives away half the lace to his big sister then
he has half remaining. '/ is the same as /. 50 when be
cuts the remaining half into three pieces, each piec? is
/5. Ethan keeps one of these for himself, whichis /5.

9. 44cm

When Mark puts together the two 5 m sides,

they don't make any part of the perimeter of the
parallelogram. So the only sides that count towards
the perimeter re those with lengths 9 om and 13cm.
Sothe perimeteris 9+ 13+ 9+ 15=44cm.

©CGP 2015

10. 4%

Mrs Biggs has 5+ 7+ 7 + 4+ 1+ 1= 25 pupils in her
ciass One pupilhas 5 ormore siblings. As a fraction,
theis /5, whichis the same as */ 300, or 4%.

Test 27 — pages 85-87

1. 35%

There are 20 squares, of which 7 have been shaded.
As a fraction, thisis /0. Multiplying the numerator
and denominator by 5 gives L 100, Whichis 35%.

2 C
The total number of sweetsis 7+ 6 +8 + 8+ 11=40.
There are 5 bags, so the mean is 40 - 5= 8.

3. 105 days

12th June is the earliest date, and 25th September

is the latest date. S0 Mick is the oldest and Barry is
the youngest. There are 30 days in June, so there are
18 days from 12th June to the end of June. July and
August each have 31 days, and then there are 25 days
from the start of September to Barry's birthday.
SoMickis 18+ 31+ 31 + 25 = 105 days older

than Barry.

4. C

The angle of the No'sector of the pie chart is
360-200=160° This represents 16 people. soin
the pie chart each personis 160°+ 16 = 10°. So the
Yes'sector represents 200° + 10°= 20 people.

5. 3cm

Acube has six identical square faces. If the total area
of all these faces is 54 cm?, then each face has area
54 +6=9cnt, 9= 3 x 3, 50 the side length is 3 cm.

6.  69°

Ina parallelogram, there are two pairs of. equal angles.
Allof the angles add up to 360", so two different
angles will add up to 180°. 5o the angle you're asked to
findis 180-111=69",

7. D

Moving two squares to the right of (-4, 5) ends upat
(~2.5). Moving diagonally across one square, you could
endup at one of (-3, 6), (-3, 4), (-1, 6) or (-1, 4).

So the answer s D.

8 C

If the square in the centre has a perimeterof 20cm,
then each side lengthis 20 ~ 4 = 5 cm, The outer
perimeter has 20 sides, sois 5 x 20 = 100 ¢m.
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9. 820

The trick here Is to spot that & x B2 is the same as
12 x 41. S0 now you have the expression

Bx41+ 12 x 41, whichis the same as 20 x 41,
which is B20 (you can use partitioning here).

10. B

You can see in the diagram of the stacked pots that
the number of pots gets multiplied by 3 cm, and

the & cmis added on. So the answeris 3x +&.

Test 28 — pages 88-90

1. C

One pineapple costs 95p. One apple costs 15p, so
three apples cost 3 x 15 = 45p. Soin total Joan
spends 95 + 45 = 140p, which is equal to £1.40.

2, E
A and C each have 2 lines of symmetry, and B and D
eachhave 1. E has 3 lines of symmetry.

3. 125kg

The mass of the pumpkin is equal to the difference in
the readings on the two scales. The reading on the first
scaleis 2.5 kg. The reading on the second scale is

1.25 kg (halfway between 1 kgand 1.5kg). 1.25is
halfof 25,5025~ 1.25=1.25kg.

4. C

Volume = length x width x height, so:
280=14x2x height. 14x 2 = 28, s0:
280 = 28 x height, and so the height is 10 m.

5. 3

12 x 9= 108, 50 she can fill 12 pots with 9 pencils
each. Thenthe 111 - 108 = 3 remaining pencils wifl go
inthe final 13th pot.

6. A

Bis incorrect because the value for week 3 is greater
than the value for week 1, but on the graph the bar
forweek 1 is higher C and D are incorrect because
the values for week 1 are higher than those for week
2, which you can see is wrong from the graph. E is
incorrect because the value for week 4 is higher than
the value for week 5, which doesn's match the graph.
A s the only set of values which matches the graph.
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7. 20%

Ifyou bought 4 individual glasses, 1t would cost
4x£1750 175 breaksdowninto 10+ 7 +0.5
4x10=404x7=28and4x05=2.

S04 x£1750=£40+£28+£2=£70 Buyinga
set would save you £70 - £56 = £14. As a fraction,
this savingis %/+;. Dividing the numerator and
denominator by 7 gives </, whichis /100, or 20%.

8. B
1em=10mm,.s0 9 cm =90 mm. Anincrease of
90 mm will take 90 = 2 = 45 years.

9. D

25 km s not shown on the graph, but 2.5 kmis.

From the graph, 2.5 km = 1.5 miles. Multiplying both of
these values by 10 gives 25 km = 15 miles.

10. B

12x+2=06x 3xx2=6x. 7x-xis 7x - 1x=6x.
4x + 2 doesn't simplify — only one of the terms
has anx. (Don't get it confused with 4x + 2x).

Test 29 — pages 91-93

1. 290625

The new reading 15 289 783 + 842

You can use the column method to find this
289783

+ 842
299625

2. C

Anght angle is 90°, so the other angle is:
90°-85°=7".

3. D

120 g breaks down into 80 g + 40 g, and 40 g is half of
804, 0 Damian has 1/ times the amount of butter
needed. The total weight of flour and sugar in the
ongmal recipeis 1004 + 1009 = 200 g. S0 he should
use 1/ lots of 200 g, whichis 200 + 100 = 300 g.

4. C

Moving 8 squares east (to the right) gives the

X coordinate 3. Moving 4 squares south (down) gives
they coordinate O. So the new coordinates are (3.0).
5. E

10.3and 15 are factors of 60. Out of these, 10 and
15 aremultiples of 5. 10+ 1= 11, whichisn't square.
5+1=6 whmhfsn'taquare 15+1=16=4250 15
is the only one which 15 1 less than 2 square number:
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6. A
Use estimating here — a cup holds 256 ml, 50 the,

are about 4 cupsiin 1 litre. A bathtub holds ©
189.4 litres of water, which is approximatel,
200litres. Soyou can fil about 4 x 20

0=800¢,
from a full bathtub, and so the only possibl iy
option A: 739. roobasums
7 E

35%i5%%/100, which is equivalent t0 0.35, not 3 5,

8. 121

The sequence is the square numbers. So the 1 1th
i511°=11x11=121. -
9, 90

Forevery 1 card that Lara has, Elise has 3.
Solarahas 1 cut of every 4 = "/, of the cards,

"/40f 120= 120 « 4 = 30, 50 Lara has 30 cargs,
and Elise has 3 times as many: 3 x 30 = 90,

10. D

The shape is 2 & m x 10 m rectangle with a triangle of
base 7 m and height 4 m removed. The rectangle’s area
i56 x 10= 60 n7* and the triangle’s areais '/, x 7x 4
=7x2=14n". Sotheansweris 60~ 14 = 46 nt.

Test 30 — pages 94-96

1. D

You can use rounding to answer this question. 7960
rounds to 8000 to the nearest thousand, and 3.6
rounds to 4 to the nearest whole number. 8000 = 4 =
2000. So the only possible option is 2100.

2. 7

The Faint’ sector is a right angle, so it makes up 1/40_1‘
the circle. S0 '/ of the people said that paint is their
favourite. Thisis 28~4=7.

3. B

25 minutes after 133015 13:55. 10 minutes after
this 15 1405, Then, breaking down the final hour and
ahalfinto 1 hour + 30 minutes, 1 hour after 140515
15:05, and 30 minutes after this is 15:35.

4. B
Viewed from above, there will be 4 squares 4cross: P”-g’
1 square below the 4th square from the left. Thisiz

5. C

There are 3 + 5 + 12 = 20 ties in total, oﬁ::rchﬁ +12
= 15 are not spotty. Asa fraction, thisis /zg/
Dividing numerator and denominator by 5 4ivee ~/4:
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6. C >
The refiected shape vill look |
like this ———

So the new coordinates
of Pare(11.4)

1
H
i
i
i
|
6

7. 24 miles

The mean is the total number of miles divided by the
number of days. Thisis 120 -5. 120 breaks down into
100+20. 100-5=20,and 20 - 5=4,50
120-5=20+4=24

8. 160

2 sheets of card will have a total thickness of 1 mm.
1em=10mm, s08cm=80 mm. S0 the 8cm pile
contains 80 lots of 2 sheets: 2 x 80 = 160 sheets.

9. D
Substituten = 3 into the formula:
10-4(3)=10-12=-2.

10. C

All of the horizontal sides add up to two lots of 9 m,
whichis 18 min total Then there are two vertical sides
of lengthyy and two vertical sides of lengthy + 2.

So the vertical sides add up toy +y + (v + 2) + (v + 2)
=4y +4. Sothe perimeteris 18 + 4y + 4 =22 + 4y.

Test 31 — pages 97-99

1. C

120 324 breaks down into 120 000 + 324, which is
one hundred and twenty thousand. plus ‘three hundred
and twenty four. So Cis correct.

2. C
An obtuse angle is between 90°and 180°. A, B, D and E
are less than 90° (acute). Cis the only obtuse angle.

3. D

Marissa uses 12 ¥ worth of paint out of a total of
48n7. As a fraction, this is 72/,,& Dividing the
numerator and denominator by 12 simplifies this to

/4. S05he has used '/, of the tin, and %/ is left over:
4. 82
22%+37%=59% sothe percentage of non-fiction
books is 100% - 59% = 41% S0 41 out of every 100
books are non-fiction. Madison has 200 books in total,
5041 x 2 =82 are non-fiction.
5. C

The triangle is isosceles, so the other angle at the base
of the triangle (inside the tnangle) is 65°. Angles on
astraight line add up to 180°, soa = 180° - 65° =
1157
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6. B

1 hour = 60 minutes, so 1 hour and 20 minutes is
60 +20=80minutes George reads 2 pages per
minute, 5o he has read 2 x 80 = 160 pages durng
this time. He has 860 - 160 = 700 pages left to
read.

7. 45 minutes

Basketball has 2 balis and baseball has 1/ balls

S0 basketball has >/.s of a bali more than baseiall

"/, of aball represents 60 - 4 = 15 minutes, 5o 3 of
aballrepresents 3 x 15 = 45 minutes.

8. D

Reuben has 2 + 5+ 8+ 1 =16 pairs aitogether, of
which 5+ 1= 6 are boots or slippers. As a fraction,
thisis /5. Dividing the numerator and denominator
by 2 simplifies this to 3/5

9. 15

If the mean of the 5 numbers is 12, ther the sum of
the 5 numbers must be 5x 12=60. 13+ 7+9+
16=20+25=45. 50 the fifth numberis 60 - 45
= 15

10. 8

Multiplication comes before subtractionin BODMAS,
502x25-1=50-1=49 Soyouwant the
smallest number that will square to give more than 49.
7¢ = 49, s0 the smallest possible value of x is 8.

Puzzles 6 — page 100

Equal Shapes
Eg

Ineach case, rotating one of the shapes will give the
other shape.

Elevenses

29524 does divide exactly by 11.

312 581 doesn’t divide exactly by 11.

The only number between 2 165 860 and 2 165 862
that is divisible by 11is 2 165 867.
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